mmmmELow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

WHRBEAEAMARAT 4

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd



/2 5] 181 1" COMPANY PROFILE

W REERENHERA TR A CET20044%E (B “WERE" ), BBLEEREFE, B—FXNERED
EHHE . FIEFHERNXRMTAHONSHRAREL, FiElGmEmR150005FHXK, HHEREXHNTIEERE
MSMEFIHIE, Wi E. KRR “GRFEEE SHRERAR" NRLER, SEAERPIENHEIHIE
BREE R RINERRES

i REBZUR—EURARFRIEALBNITEED, BERNLBEAETHITHEZARNEZIIREEHE
o REAEL. MERFLTUERARAR=TRA, ART —ZERFENHLE, SEREBIMTTHET RN
TiT#, ERESEFEMEMRXFE. LEXFE, URZEFRESK. BPANMERRIIFL D, FETHRIULER
AREREARZESTALTE, HFARARIRIH R =SS E T EI

IniE R ELE LKL B, BMNSRELRE, ELEMNEEEERESMNTEELARIENHE. REERED
B. LBEDR. BFEAXTIREERES, BE7EH “RNOMAC” ITiEM TEVMTIBHERRMN 2 M. BRIAHE
ERAMIE, R, . #FH. =, EEFERMMBEXMRITBEHSARAIRESENE, BSETELIHK
ENERREHNERS M, Pt AZRZE40%E, mEEM. M. KFEMNREMOBI MR SIER, WiE
R R AR KT R R E S IR IZ I,

EAENEIIRL R EDIXEE, RNOMACE~MiZIT. #IETZ. RERIEFAHAEEFENEKRFERTH
FREEHER, BATRAER—RNRE”REER,

ARIEE"mM:

¢ BM1 RIIZE& G IED A
& BM2RFIZE G E DA
¢ BM3RJFIZL i IED A
¢ BM4RFIZE G IED A
¢ BM5RFIIRL& B ED X
¢ BM6RFIIZL i E DA
& BKRJIBEEKRES A

M EF=mig AT IR, Rolyli. BRI, Sl & LS.

SHANDONG RNOMAC HYDRAULIC MACHIENRY CO., LTD. Hereinafter to be referred as RNOMAC, was found in
2004 and located in Jinan China. RNOMAC is a large-Scale export-oriented of high technology enterprise mainly engaged
in Hydraulic Motor. That R&D, manufacturing and sales. The company has workshop meeting the international standards, the
manufacture and test equipment that are leading technologically home and abroad, what we RNOMAC covers an area more
than 15,000square meters. In order to provide highest quality products and the best service for construction machinery area
between China and the world, with RNOMAC core concept ” BRAND CASTING BRILLIANT INNOVATION TO WIN THE
DEVELOPMENT” .

Since established, R&D was the centers of all the work and near USD1,000,000.00 are invested every year for the training
of the technical people and the update of processing equipment. At present, RNOMAC has more than 40 technical talents
respectively with Doctor, Master or Bachelor degree. This strong research team is full of vigor and vitality and completes tens
of designing every year. Besides, RNOMAC has set up several R&D centers with universities, Beijing University of Aeronautics
and Astronautics, Shandong University, Shandong Communication Institute etc., and take part om more than 10 projects that
sponsored by Provincial or National Natural Science Founds. The related overcomes have absolutely authority not only in the
academic area but also industrial area.

RNOMAC is fulling the globalization strategy into effect, international business grows rapidly. during these few years,
RNOMAC has attended several world famous overseas exhibitions, e.g., PARCD in Paris, BAUMA in Munich, BAUMA in
Shanghai, Five Industries Dubai Exhibition, in order to build RNOMAC as an internationally famous brand in construction
machinery area. At present, RNOMAC has set up several branch company or agency in Australia, HongKong, Libya, Vietnam,
Russia and Holland etc. The international sales and service net work has been set up gradually. Over 40% of RNOMAC
products are sold to Europe, America, Oceania and some districts of Asia. Obtaining broad acceptance from the overseas
markets.

As the most professional manufacturer of orbital hydraulic motor in China, RNOMAC has the most wealth of experience
and product improvement awareness in product design, process technical, quality assurance. Committed to becoming the
world—class manufacturer of hydraulic products.

Main products:

@ BM1 series hydraulic motor
®BM2 series hydraulic motor
@ BM3 series hydraulic motor
@ BM4 series hydraulic motor
@ BMS5 series hydraulic motor
4 BM6 series hydraulic motor
@ 8K series hydraulic motor

These products are used in Machinery of Engineering, Agriculture, Plastic, Fishery, mining etc



®

"

LOGOE &

About sixty thousand years ago, rhino has arisen in the world as one of the strongest
terrestrial animals. It is loved by its haleness, power, hard working and agility.
"RNOMAC" means we will supply durable, reliable machine and service.

RHINO, fxXiE&A: “B4” ,

ALECAERMREHT, RELETIVRRRLNTYZ —.
E—EMRUELE. Fh. #FEXAZREZARMNMAEE,
“RNOMAC” RAHKMNBESAERERL, HANTRFIRS.



I %%

CHEVALIER
FCL-200







K

CONTENTS

IR R ED X

BM1 gﬁu;ﬁ%ﬁﬁgﬁ .................................................................................... 1
BM‘]E?&EE%@H&&EEEE .......................................................................................... 8
BM1%U§JE§$§§U?§£§R§EEE .......................................................................................... 9

BM2 Z 1 B T TR Tl g7 e o v vvveeoe e ettt ettt et e ettt et ettt et e e it aataaans 13
BMQE?&EE%@H&&EEEE .......................................................................................... 20
BM2EI Bl D1k 2 B IR R LD - oo coeoeeesereenttutunnunnnunnuenesesetetettateutennnsnssssssssssiessseesereestnonmanes 21
BM2[E) 25 WAt R G FE LR R TE Th 3Tt v vvvvevrrernnsrnnenneeee ettt ettt ettt 29

BM3 gﬁu;ﬁ%ﬁﬁgﬁ .................................................................................... 27
o R ik o i S PP PP PP PPN 31

] R b i D T P e PP P P P PP P PP PP PP PP PP PP EPRPIPRPRTPTR 34
BM4$§%3E%§U?§2§R§EE’E .......................................................................................... 38
BMAZE T 52 R I 3B R T Ty A+ vvvveeemomeemn e e e e et e ettt ettt ettt ettt 39
oy e e G O P PP P PP PPN 40
] A A | B o e D v R PP P PP PP PP PP PP PP PP P PP PP PP PP PP PP 41

i T G AR 2k iR IE B i

S S b o A B v R e P PP P P P PP PP PP PP PP TP PP PP PP EPRPIPRPRTPTR 45
BM5$§%3E%§U?§2§R§EE’E .......................................................................................... 51
BMSTCEHZK | ZR 3B R E Ty dAi o oveovereneneenneneenn et et ettt ettt ettt ettt e e et et e e aaes 52
BMSTTEHZ || ZR T 3Bk T E Dy dAi v vveveeemennennennenn e e ettt ettt et e bttt ettt et et et aaaaaes 53
oY [ |y e e g O P P PP P PP PN 54

BM6 gﬁu;ﬁ%ﬁﬁgﬁ .................................................................................... 58
BMGE;@EE%@H&&EEEE .......................................................................................... 64
BMBTCEM 7K 22 F1 3Bk T Ty A oo vvoveeemeememn e mn e e et ettt ettt ettt 65
BN6 o B | e e e 66

8K %ﬁﬂ%?ﬁﬂ*ﬁ}i&ﬁ ....................................................................................... 70
F et T i S 77

303%5“3&‘&%“2}]%% .......................................................................................... 81

P201 BRI JE T BRI ZR -+ v v vovevrvrerorenoneeeetetetetettiteteietitatatetettatetetetiaetatataans 82

A By e = |-t = P P P P T PR P P PP P PP P TP P PP P PEPPPPEPPPRPR 83



rmmmmmmLow Speed High Torque Orbital

e AL R Y

BM1 DisR—MiSRENOMIR DA, KA

- SEMMEEHMPER TS, GBI, SHEL.

- AIRMMEHIET, RAEEHEE, TRHFBER.
- ERBHEAE. HETR,

- HEBALF, EATRERENGHA,

- EEEZ, W, HOSEETK.

Hydraulic Motor {REXHAIEIRLIRE DIk

Characteristic features:

BM1 motor is a small volume, spool valve type gerolor motor.

Characteristic features:

- Advanced design of spool and gerolor, which has Small size and compact structure.

- Credible design of shaft seal, which can bear high pressure and be used in parallel or in series.
- Direction of shaft rotation and speed can be controlled easily and smoothly.

- Best combination of efficiency and economy in medium duty applications.

- A variety of connection types of flange, output shaft and oil port.

FEMESH
Main Specification

1HIEINORKES, EETHEENEIEES,
2.EERMERERSENMRSHETIE,

. OAEMSETIERGT, BITREIMABIT10%,
4.:m ITIEREB0T,

5.0 REAFEEIOMPa, ERIERYEAEBTISMPa, Bid

A RSt

6. Ok AT TAERT, BINAERKIIEEHAI40% U TES 1/,
7 ¥ FIGS#IEE R [Eih, #E37-73cSt, HEiEEISO18/13,

Note: 1. Intermittent means the entrance of the maximum pressure; continuous working
pressure means the differential pressure.

2. Motor should not work under the highest pressure and the maximum speed.

3. The running time should not exceed 10% under intermittent working conditions

4. The Maximum working teMPerature is 80 C.

5. The maximum allowable back pressure is 10MPa, but the recommended back
pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

6. one hour running time under 40% of maximum working pressure is
recommendedbefore full capacity working.

7. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness
1SO18/13.

WRREEENMARAA 4

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd



4

RNOMAC )

®

I ia R AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM1 R%I Dk 4EES £
Performance Data

-
>
m Bm1-50 50ml/r
EAZA AP (MPa)
|3\ 6‘7‘8‘10‘11‘12.5‘16.5|
g|l 18 | 36 | 42 | 50 | 60 | 72 | 79 | 102
150 | 147 | 144 | 140 | 137 | 127 | 122 | 90
s|| 19 | 87 | 43 | 48 | 61 | 73 | 83 | 105
290 | 285 | 283 | 276 | 275 | 265 | 256 | 230
it ool 17| 37 | 42 | 50 | 62 | 72 | 80 | 107
= 388 | 385 | 381 | 375 | 372 | 365 | 352 | 332
3 lsol| 15 | 36 | 42 | 50 | 63 | 70 | 81 | 108
= 584 | 578 | 570 | 566 | 560 | 555 | 546 | 516
=
Dlas|| 15 | 35 | 42 | 50 | 63 | 68 | 80 | 106
= 680 | 675 | 670 | 662 | 654 | 646 | 640 | 610
45|| 14 | 34 | 40 | 48 | 62 | 70 | 80
878 | 868 | 863 | 856 | 849 | 840 | 830
sol| 13 | 35 | 40 | 48 | 63
970 | 960 | 955 | 950 | 942
% (N-m):63
i#(rpm):942
Bm1-80 80ml/r
EH AP (MPa)
| 3 ‘ 6 ‘ 7 ‘ 8 | 10 ‘ 11 ‘12.5 ‘16.5 |
g|| 28 | 60 | 70 | 80 | 100 | 110 | 128 | 168
97 | 93 | 92 | 89 | 84 | 80 | 75 | 50
15|l 28 | 61 | 70 | 80 | 100 | 114 | 128 | 170
184 | 181 | 178 | 174 | 169 | 166 | 160 | 140
it ool| 27 | 60 | 70 | 80 | 100 | 112 | 129 | 170
= 246 | 243 | 240 | 238 | 234 | 230 | 223 | 205
2 so|| 26 | 60 | 69 | 79 | 100 | 110 | 128 | 170
s 370 | 366 | 363 | 360 | 354 | 350 | 345 | 323
/'-_\ |
D ||| 25 | 58 | 67 | 77 | 100 | 110 | 126 | 170
= 432 | 426 | 424 | 420 | 415 | 411 | 405 | 385
as|| 28 | 53 | 65 | 77 | 95 | 108 | 124 | 168
554 | 550 | 546 | 541 | 536 | 530 | 524 | 503
so|| 20 | 55 | 65 | 75 | 95 | 105 | 123 | 168
616 | 608 | 606 | 603 | 599 | 593 | 585 | 560
col| 1o | 53 | 62 | 75 | 95 | 108
741 | 732 | 727 | 722 | 717 | 712
s|| 16 | 47 | 60 | 70 | 90
825 | 820 | 815 | 810 | 808

2 www.rnomac-h.com

<
=

(INdT) mol4  fain

(NdT) mold  feinss

OELETERX

[B) T TAEX

Bm1-63 63ml/r
EA AP (MPa)
| 3 ‘ 6 ‘ 7 ‘ 8 ‘ 10 ‘ 11 ‘12.5 ‘16.5 |
gl 22 | 46 | 54 | 62 76 | 91 98 | 126
125 | 124 | 123 | 121 | 118 | 116 | 113 | 72
|| 22 | 46 | 54 | 60 76 | 91 | 104 | 132
233 | 231 | 229 | 227 | 224 | 222 | 219 | 185
sol| 20 | 46 | 54 | 63 78 | 90 | 100 | 134
310 | 309 | 307 | 305 | 301 | 298 | 294 | 263
20|l 20 | 45 | 53 | 63 79 | 88 | 102 | 135
465 | 463 | 462 | 460 | 457 | 455 | 451 | 409
|| 19 | 44 | 53 | 63 79 | 84 | 100 | 133
543 | 540 | 539 | 537 | 533 | 531 | 528 | 484
45| 18 | 42 | 50 | 60 78 | 88 | 100
705 | 702 | 700 | 698 | 695 | 693 | 689
sol|| 16 | 44 | 50 | 60 79
781 | 778 | 776 | 774 | 770
Bm1-100 100ml/r
EAH AP (MPa)
| 3 ‘ 6 ‘ 7 ‘ 8 ‘10 11 ‘12.5 ‘16.5 |
g|l 3 | 74 | 8 | 100 | 126 | 140 | 160 | 210
78 | 75 | 73 | 70 | 64 | 68 | 56 | 35
15| 35 | 74 | 85 | 100 | 126 | 140 | 160 | 212
150 | 145 | 144 | 141 | 137 | 133 | 129 | 110
oo|| 34 | 74 | 88 100 | 125 | 145 | 161 | 212
197 | 195 | 193 | 190 | 189 | 183 | 178 | 160
sl 38 | 7 85 | 95 | 123 | 138 | 158 | 212
295 | 294 | 293 | 290 | 288 | 283 | 279 | 259
|| 22 | 70 | 81 95 | 120 | 135 | 155 | 212
347 | 345 | 344 | 342 | 337 | 335 | 330 | 310
45|| 30 | 66 | 80 | 93 | 120 | 183 | 155 | 208
445 | 443 | 442 | 439 | 435 | 432 | 426 | 405
so|| 25 | 66 | 79 | 93 | 118 | 184 | 152
498 | 495 | 493 | 491 | 485 | 480 | 476
col| 22 | 65 | 75 | 93 | 116 | 182
599 | 594 | 589 | 587 | 584 | 577
25|l 20 | 88 | 75 | 88 | 113
674 | 666 | 663 | 660 | 655




mmmmLow Speed High Torque Orbital

(NdT) mold i Ss

(ndT)
b S

Mo

Hydraulic Motor {REXHAIEIRLIRE DIk

OFESETEX  mETIEX

Bm1-125 125ml/r Bm1-160 160ml/r
EH AP (MPa) EH AP (MPa)
| 3 ‘ 6 ‘ 7 ‘ 8 ‘10 ‘11 ‘12.5 ‘16.5 | | 3 ‘ 6 7 ‘ 8 ‘ 10 ‘ 11 ‘12.5 ‘16.5 |
gl 44 | 94 | 112|128 | 158 | 180 | 200 | 263 o || 56 | 120 | 143 | 160 | 200 | 226 | 245 | 334
60 | 59 | 58 | 56 | 53 | 50 | 45 | 25 47 | 46 | 45 | 44 | 42 | 40 | 38 | 24
|| 44 | 95 | 111|127 | 160 | 178 | 205 | 265 is|| 56 | 120 | 135 | 160 | 202 | 206 | 245 | 34f
118 | 116 | 115 | 114 | 110 | 108 | 105 | 85 93 | 93 | 92 | 90 | 88 | 86 | 83 | 75
so|| 42 | 95 | 108 | 128 | 158 | 175 | 202 | 268 T |o|| 85 | 120 | 143 | 160 | 203 | 226 | 245 | 343
159 | 157 | 156 | 153 | 150 | 145 | 142 | 129 = 120 | 118 | 117 | 116 | 115 | 114 | 114 | 104
sol| 20 | 92 | 108 | 125 | 156 | 178 | 198 | 265 Tl 54 | 118 | 140 | 160 | 200 | 225 | 242 | 340
236 | 235 | 233 | 230 | 225 | 220 | 218 | 206 2 185 | 184 | 183 | 181 | 178 | 176 | 175 | 163
— /'2  —
ss|| 38 | 87 | 107 | 122 | 154 | 174 | 195 | 268 T ||| 53 | 115 | 138 | 157 | 199 | 220 | 242 | 337
206 | 273 | 273 | 272 | 268 | 265 | 262 | 247 = 214 | 213 | 212 | 211 | 208 | 207 | 205 | 196
4s|| 37 | 88 | 102 | 120 | 152 | 473 | 194 | 265 4s|| 52 | 112 | 135 | 156 | 198 | 220 | 238 | 335
355 | 352 | 351 | 349 | 345 | 341 | 339 | 322 277 | 275 | 274 | 273 | 270 | 268 | 265 | 256
sol| 33 | 85 | 98 | 120 | 149 | 470 | 102 sol| 45 | 110 | 132 | 153 | 195 | 215 | 233
395 | 392 | 390 | 388 | 385 | 384 | 380 308 | 307 | 305 | 303 | 300 | 298 | 296
woll 32 | 8 | 98 | 117 {148 | 165 sol| 44 | 108 | 130 | 150 | 192 | 214
476 | 470 | 468 | 465 | 461 | 459 368 | 366 | 365 | 364 | 362 | 360
|| 25 | 75 | 95 | 110 | 142 |l 32 | 95 | 120 | 142 | 183
504 | 588 | 585 | 582 | 577 462 | 458 | 457 | 456 | 453
Bm1-200 200ml/r Bm1-250 250ml/r
E5 AP (MPa) EH AP (MPa)
|3 ‘ 6 ‘ 7‘8 ‘10‘11‘15 | |3 ‘ 6 ‘ 7‘ 8 ‘ 10‘11‘15|
o|| 75 | 155 | 178 | 204 | 255 | 283 | 385 ol| 94 | 195 | 225 | 250 | 326 | @57
38 | 37 | 36 | 35 | 83 | 29 | 12 30 | 29 | 28 | 27 | 25 | 24
|| 72 | 152 | 180 | 206 | 250 | 265 | 390 (|| 90 | 193 | 225 | 260 | 326 | 360 | 485
74 | 72 | 71 | 70 | 68 | 66 | 57 60 | 59 | 58 | 57 | 55 | 53 | 48
ol 71 | 151 | 178 | 205 | 255 | 285 | 390 T ||| 89 | 191 | 225 | 258 | 320 | 355 | 485
99 | 98 | 97 | 95 | 94 | 91 | 8i £ 78 | 78 | 77 | 76 | 74 | 73 | 65
wol| 70 | 149 | 175 | 200 | 254 | 285 | 388 T lgo|| 84 | 188 | 220 | 250 | 320 | 354 | 452
148 | 147 | 146 | 145 | 142 | 138 | 126 g 118 | 117 | 117 | 116 | 114 | 112 | 103
— "-_\ [
45| 68 | 146 | 172 | 200 | 250 | 280 | 388 D ||| 82 | 184 | 218 | 252 | 316 | 350 | 448
173 | 172 | 171 | 168 | 165 | 163 | 154 = 135 | 134 | 132 | 131 | 127 | 125 | 120
4| 83 | 142 | 170 | 195 | 248 | 278 | 382 || 79 | 179 | 215 | 246 | 310 | 345 | as2
200 | 219 | 218 | 216 | 218 | 211 | 200 179 | 178 | 177 | 176 | 174 | 172 | 1683
sol| 58 | 138 | 166 | 105 | 242 | 273 wol| 74 | 174 | 210 | 243 | 306 | 338
245 | 243 | 242 | 241 | 238 | 236 199 | 196 | 195 | 194 | 192 | 191
sol| 56 | 135 | 165 | 190 | 240 soll 70 | 171 | 206 | 239 | 300
295 | 204 | 203 | 292 | 289 236 | 235 | 235 | 234 | 230
|| 42 | 122 | 150 | 178 || 85 | 155 | 190 | 22f
370 | 365 | 364 | 362 297 | 295 | 295 | 294

WHRBEBRENRARLT 3

Shandong Rnomac Hydraulic Machinery Co.,Ltd

LNG



nuowmd% i [ E AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

—
=
m Bm1-305  305ml/r
EH AP (MPa)
| 3 | 6 | 7 [ 8 | 10 |15
g|| 115 | 244 | 282 | 312 | 388
25 24 22 17 13
is|| 116 | 243 | 284 | 324 | 406 | 508
46 46 45 43 40 20
B[l 114 | 242 | 282 | 325 | 405 | 505
B 62 62 61 57 56 44
S|s|| 109 | 288 | 276 | 320 | 400 | 500
2 93 93 92 90 88 76
=
2|gg|| 105 | 282 | 273 | 314 | 308 | 498
= 109 | 108 | 107 | 105 | 103 93
45|| 100 | 225 | 268 | 310 | 390 | 490
140 | 140 | 138 | 136 | 135 | 125
sol| 92 218 | 262 | 806 | 884 | 486
156 | 155 | 154 | 158 | 150 | 140
coll 89 215 | 258 | 300 | 378
188 | 187 | 186 | 184 | 180
25| 69 195 | 236 | 278
236 | 235 | 233 | 2832

(NdT)MOIS D S5

OESTEX |8 TAEX
Bm1-400 400ml/r
EH AP (MPa)
| 3 ‘ 6 ‘ 7 ‘ 8 ‘ 10 ‘ 125 |

g|| 147 | 805 | 355

19 18 17
|| 147 | 308 | 359 | 406 | 435 | 831

38 37 35 33 32 26
sol| 144 | 305 | 358 | 408 | 435 | 610

49 49 47 45 43 37
sol| 137 | 300 | 352 | 400 | 433 | 628

73 73 72 70 68 63
ag|| 135 | 294 | 345 | 395 | 425 | 625

85 85 84 82 81 73
4s|| 130 | 286 | 330 | 300 | 420 | 815

110 | 110 | 108 | 106 | 105 | 100
sol| 117 | 278 | 330 | 382 | 410

124 | 124 | 122 | 120 | 119
coll 112 | 274 | 326 | 878 | 402

148 | 148 | 147 | 146 | 145
|l 88 246 | 298 | 350

185 | 185 | 184 | 182

RPHIRTEE AesHEREM, 50C MBRETMIXN, FARDSXERBEEM.

All the data was tested at 50 “C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

4 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BM1 &M E

sl FeIN
T S5H O axs 2

7/16-20UNF

40 40

O A HmO B
Port A Port B

Nt
o
O
3\
) *
I/

4
e
ig = ?u @ &I
| ]
L :1 & J)@ || <t
H —
»
1= D)
| : Y
5(2.8) |12 L
L1
4-M8-6H 55
R (0epi) 13 3620.2 _ 32+0.15 T st | EMere
4040.2 Drain Port T (3/11/6?”20-UNF
7/16-
[ /Jj\ 7;,
ol '\\ f) {)\ '%' G
| —
~ pi N — =
S ﬂ:f a Pﬂﬁﬁ ;T,H;é — g
7 %-él ’ : Q
11778 }@j o —
=
| ~ ] H
40+0.2 L
5(2.8) 12
L1
Witk EAE S Shaft Load Capacity:
& E %% Radial Load: 400Kg Max. =
R A Load: 200K Mo ﬁtf (D.splace;nem 590 161335 1205 11080 ;2255 ;:(; 23070 52156 35055 47020
Kg mm . . . . .
400 L1(mm) [ 147 [149.5[152.5] 156 [160.5[168.8] 175 [182.6] 193 | 210
325
250 A FRERE
21 -10 0 10 20 27mm x S [WTIRS \ \
B X S dh s, A, DRImET FHRERE .
——t+—— Standard Direction of The Motor Rotation:
! CW----When A Port pressurized, Viewed From
the Shaft End.

LNG



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁﬂﬂ&*ﬂﬁ Machinerngo.,Ltd Y

BM1

BM1 A =i&# R~

102803872 102803858 1102803858
) Pilot] @82.55:3:33 . ilot| z82.55:5:932 _ ilot| z82.55:3:93
4-011 & (Height) 5 4-013.5 = (Height) 5 2-013.5 | 33.5 | = (Height) 5

C@/ / @\ ?106.4 uE B X

o7 e !

m s
Ny D~

106.4
130

105
130
130

W ]

2.5° | 223
90 QhZ/V\ 94
MK AE= MFLERE= WAER =
4 Bolt Flange 4 Bolt Flange 2 Bolit Flange B

jln 280:5:532 O 0,030 1 [ 2802030
20135 335 /00108255555 apr1 [Pl s Piol ogz 55
| | /& (Height) 2.8 - &(Height) 5 = B(Height) 5

/
\\ A /@/ @\ @106.4 9

C (]

106.4
130
B
\
105
130
| _—
130

%

@
C) / \% 65 r\:i/ ’

2.5°] 225

94 90 94
MILERE= ML E= NELERE=
2 Bolt Flange 4 Boit Flange 6 Bolt Flange

1t 0| @80:,678 fiqn
4-211 Pilot] gs2. 550920 4-38-16UNC  /Pilot| 2444005
& (Height) 5 R (oeom) 15 % (Height) 2.8
S CE0)
f [ \
\ .

%
@} g»/ €® \ ~ / 282.6+0.1

90
83

70 83
90
. ML ARE=
ML ARE= 4 Boit Flange
4 Bolt Flange

6 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

BM1 4 H 5l R~

T4 8x7x32

Parrallel

-

2803
21250041

T4 6.35x6.3x32

17

40

43

5Parrallel
S — i /
oo?) Og o oz
o 5 =
Al AN
Q 17
40
43
i 6x6x32
Parrallel
4,1«
& !
e =
&S
17
1/4-20UNC 40
43

BM1 SH &R~

T4 8x7x32
Parrallel
I N -
o 8
OoQ oo
0 5 S
N N
[oN)
17
45
48

EH2 6.35x6.3x32

o]

Parrallel
5 o
¢ I

SIS =l
CQ oo
3 g =
0
A AN
Q 17
1/4-20UNC 40
43

5 {EHE 6D-25x22x6

1x45°

Rectangle Spline /
-

i \
\ll )ULII
\

-

.

A: G1/2"
B: M22X1.5-6H
D: 1/2"-14NPTF
E: ZG1/2"
F: M18X1.5-6H
G: M20X1.5-6H

Hydraulic

Motor {REKXHFEIRL &R E Dk

FH2 6.35x6.3x32

Parrallel

T

P OO
=

27983
3250041

17

40
43

FH2 6.35x6.3x32

Parrallel

28.3 8 3
225.4-8.025

1/4-20UNC

%E,1E8E 6D-25.4x21.5x6.25

Rectangle Spline /
N X
S

@24+0.1 |

15°

16

N

7/18-14UNF-2B

MFBRBIRTERTTH AR, BEHRAVIKER.
Fi%: (86) 53181253358 f&H: 86) 531 81253375

LNG



4

RNOMAC )

®

I ia R AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM1

BM1 Z# DX R 5 EH#R T

8 www.rnomac-h.com

105

18.5, T#ED M14X1.5
G1/4"
7 b
O A 1 ﬁ 9
Port A f()\ - 3
= o d 8 \
- M0 B - 3 103
;
=[O |E
L5 4XM10
68.3 38.5 L
L1
O EbRAERE ) :
T T4 A dhin, AR, DikIRET iR .
HFE Displacement 50 63 80 100 [ 125 1 160 | 200 | 245 | 305 | 400 Standard Direction of The Motor Rotatlon
||__(mm) 890 ;;: ;‘;'2 ;g gif-, g:': 13078 141‘21 15255 17422 CW----When A Port pressurized, Viewed From the
e L 5199 : Shaft End.
T4 6x6x32
M 4§ 8x7x32 Parrallel 0
Parrallel 0 e 5 ﬁ»o. 03
5 8-0.036 o )
M I [ z og‘
N - >
el 53 O3 E=1EE <
< 2= Q) 7 Q <t al (o]
BN N 17 ]=
1 40
40 i
M 43
SER/ALHE 6D-25x22%6
it 6.35x6.3x32 \Re“f;g'e—si"”e 6-6055
Parrallel 5 6 35 8 03 . [3)
I & | 7«, 3 il % =3 3 f?'/‘
de °5| (KO3 i 38 @z
L E== ) R 7,28 | @ L
17| S5 40 $22-0.3
40 43
43
T4 6.35x6.3x32
SEMSTERE 6D-25.4421.5x6.25 Parralel 6.35%03
Rectangle Spline 6-46, :O?g ‘ )
17 & __ ﬁi S5 g
3 ¢ feo S5 o
&2 9D 1= § &
e WA 17
min35_| € © b7 40
45 #21.5-0.38 43
48



mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BM1 $IzhikED A &5

BM1HIZhRESZER—ME RN AMNIRE DL, FURE, WA, AREHREDENRYE, EHED
EXRMEMELM, STNHPBITHE, RESLESERAGTHELRERIDE, ERTEXRINMENREHH
BEE. T3, TE, #E%,

wO A 2-913.5
PortA ’//_—:@]ﬂ
_%Q% OR
S| «~
YA N =
W}k\ A
A e ] N &
MmO B Ar— -
Port B 8138 \imagi
L1 85
90
65
e ) o
-
. : O Ve
A 40
o0 g ¢ 28 |l ©)
5[] A
BO Al OB L N Q}/
Port A Port B -
L1 \iﬂ?é’i?ﬂ: 99
Ok FRERE
HE8 oopsceren| 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250 | 305 | 400 E X ahids, A O, Dak)RE s aEss .
L(mm) | 9 [11.5|145| 18 |225|28.8| 37 |446| 55 | 72 |  Standard Direction of The Motor Rotation:
L1 (mm) | 209 [211.5]214.5] 218 | 223 | 229 [235.5[244.5] 256 | 272 CW-——-When A Port pressurized, Viewed From the
. Shaft End.
Dik%sE:
DA HIFHAER/NA188N.m, BHEHREH1.7MPa,
Ok

1\

MERFENEER: THD, EHES. BIPRHFFE;

ERN, EER., REER: DESHNEREHE, GRBN. EEBRE, FHEE, MEEATRE;
MNEHFaK: ERRFOAFGRK. EEREREMBEH, NERBME+HAR EETHELLERT;
RER: RASEIEXFZ, MNELRERSHHET, TSREEES, EREOTHHNE;
MNEFES: ERRRAGRIFEAHRME, AMRSHEERR, BEREERALAE,

LNG



®
LLI M a7 t Shandong Rnomac Hydraulic
m‘“““% Eﬁ'ﬁlﬁlﬁ&*}l*ﬁk Machinerngo.,Ltd yaradt

BM1iTE&IE2

10 www.rnomac-h.com




rmmmmmmmlLow Speed High Torque Orbital
Hydraulic Motor R KX HFEIRLE K E DA

BM1 Ordering Information

s 5 O LA IR A 4

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd




®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁlﬁl&*ﬂﬁ Machinerngo.,Ltd Y

BM1

S /S-BM1RF|5iX

1 2

B M 1

fIg 123 —BMIRIDE
Position ~ BM1 series motors
NE 4—HEECC/R
Position  displacement

0—>50
1—63
2—=80
3——100
a—125
4——160
5——200
6——250
7—305
8——400
E 5—F=FIEA

Position  Flange and pilot
A—27LERE=Z, IEO$80x2.8mm

2 bolt flange , pilot ¢ 80 x 2.8mm
B—27l&EFiE=, 1LH ¢ 82.55x2.8mm

2 bolt flange , pilot ¢ 82.55 x 2.8mm
C—27&E®ix=, 1EA ¢80 x5mm

2 bolt flange , pilot ¢ 80 x 5mm
D—27L%E R %=, 1EO ¢ 82.55 x 5mm

2 bolt flange , pilot ¢ 82.55 x 5mm
E—47LERE=, L0 ¢80%x5mm

4 bolt flange , pilot ¢ 80 x 5mm
F—47lERE=, 1EO ¢ 82.55 x 5mm

4 bolt flange , pilot ¢ 82.55 x 5mm
G—4fLAFE=, 1EO ¢ 80x5mm

4 bolt flange , pilot ¢ 80 x 5mm
H——4FLAFiEZ, 1EO ¢ 82.55 x 5mm

4 bolt flange , pilot ¢ 82.55 x 5mm
l—4FLAFiE=, 1IEA ¢85 x5mm

4 bolt flange , pilot ¢ 85x5mm
J—A4FLAEEZ, 1L ¢ 44.4%x2.8mm

4 bolt flange , pilot ¢ 44.4 x2.8mm
K—67L%& R %=, L0 ¢ 80x5mm

4 bolt flange , pilot ¢ 80 x 5mm
L—67LERIEZ, 1EO ¢ 82.55x 5mm

4 bolt flange , pilot ¢ 82.55 x 5mm

12 www.rnomac-h.com

fE 6 it
Position  shaft
0— ¢ 25EHHH, FH#8x7x32
¢ 25 shaft, flat key 8 x7 x 32
1— ¢ 25EMH, F46.35x6.3x32
¢ 25 shaft, flat key 6.35x6.3 x 32
2—— ¢ 25.4EH%h, F#6.35x6.3x32
¢ 25.4 shaft, flat key 6.35x 6.3 x 32
3— ¢ 20E, FH#O6x6x32
¢ 20 shaft, flat key 6 x 6 x 32
4A——4E I FEIH6-25.4 x 21.5 X 6.25
Splined shaft 6-25.4 x21.5x6.25
5——FER TR M6-25 X 22 X 6
Splined shaft 6-25x 22 x 6

NE 7—#0O
Position  oil port
A—G1/2
B—M22x 1.5
C——1/2-14NPTF
D——2G1/2
E—M18x 1.5
F—M20x 1.5
G——7/8-14UNF
E 8 itimO
Position  drain port
0—*x
1—M14x1.5
2——G1/4

3——7/16-20UNF
NE 9 BEER
Position  paint color
A—REL R
B—iE3kEiF black
C—IE% blue
E—4a% red
F—ABi&  no paint
fIE 10 #EMm
Postion rotation direction
A—iRiE

standard
B— KM

opposite




rmmmmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BM2 %7l
Series
GRS Characteristic features:
- RAMAERAERTRIT, AEEsMEHEE, - It adapts the gerolor design, which has a higher distribution accuracy.
" mtf&?&ﬁﬁ'%o - Shaft seal is adapted, which can bear higher back pressure.
RRAEOWEY, gERESEE. - A variety of connection types of flange, output shaft and oil port.
CBICEZ, WO, WMUEmFEEER. - Direction of shaft rotation and speed can be controlled easily and smoothly.
- ERBBRESE. HERFER. - Small volume; compact structure.
- FRUNER R, FTEMESH

Main Specification

-

. Intermittent means the entrance of the maximum pressure; continuous working

1THETEENEANOTEES, EETIERENETEREE.

2 oA ERERESE NS KEETTE, pressure means the differential pressure.
. 2. Motor should not work under the highest pressure and the maximum speed.
3HEF MeSHLERIEIM, RaE37-73cSt, HEMISO18/13, 3. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness
A DM TERGT, BETHEESSHAEBIE10%, ISO18/13.
5. T/EHiE R =80T, 4. The running time should not exceed 10% under intermittent working conditions
5. The Maximum working teMPerature is 80 °C.

6. Dk H R TIERT, MER S LIEEM40% L TES1h,
7.5k R EEI10MPa, BHEERERBISMPa, &idht
REFESM S o

o

One hour running time under 40% of maximum working pressure is
recommended before full capacity working.

. The maximum allowable back pressure is 10MPa, but the recommended back
pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

~

WRHEEENMARAT 13

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd



4

RNOMAC )

®

I ia R AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM2

BM2 R3Sk 4EES L
Performance Data

Bm2-50 50ml/r
EH AP (MPa)
|5‘7‘9‘10‘12‘14‘16‘17.5|
5|l 38 | 45 | 60 | 66 | 78 | 89
5| 95 |85 | 75 | 74 | 70 | 45
ol 36 | 45 | 63 | 68 | 79 | 95 | 106 | 120
|| 185 | 175 | 165 | 162 | 150 | 130 | 110 | 85
sl| 35 | 49 | 65 | 75 | 88 | 100 | 110 | 120
" 582 | 276 | 265 | 260 | 250 | 230 | 210 | 185
JIL [
8ol 34 | 45 | 65 | 69 | 85 | 95 | 110 | 125
20|| 375 | 374 | 365 | 360 | 345 | 330 | 308 | 275
2 los|| 34 | 45 | 60 | 69 | 80 | 98 | 109 | 125
2 475 | 466 | 460 | 450 | 436 | 420 | 395 | 360
Tlol| 35 | 45 | 60 | 68 | 80 | 95 | 100 | 125
2 |%0|| 575 | 570 | 561 | 552 | 541 | 531 | 500 | 465
T lasl| 32 | 42 | 50 | 66 | 80 | 93 | 107
665 | 663 | 655 | 654 | 635 | 623 | 598
sl 30 | 41 | 58 | 66 | 79 [ 92 | 105
760 | 758 | 753 | 750 | 738 | 725 | 700
s|| 29 |40 | 58 [ 65 | 78 | 90
855 | 855 | 850 | 845 | 835 | 814
%6 (N-m):90
3% (rpm):814
Bm2-80 80ml/r
E5 AP (MPa)
|5‘7‘9‘10‘12‘14‘16‘17.5
ol 88 | 78 | 98 | 107 | 130 | 148 | 170 | 180
19| 115 | 108 | 105 | 100 | 91 | 75 | 53 | 45
oo|| 50 | 82 | 105 | 118 | 132 | 160 | 180 | 188
%0|| 238 | 235 | 226 | 223 | 208 | 195 | 178 | 162
o |30l 48 | 75 | 96 | 115 | 130 | 150 | 178 | 190
D 364 | 360 | 356 | 345 | 330 | 320 | 300 | 283
2
20|l 45 | 72 | 97 | 105 | 128 | 149 | 177 | 189
T 487 | 482 | 475 | 472 | 460 | 446 | 420 | 409
= 1ol 42 | 70 | 90 | 98 | 125 | 147 | 171 | 187
e 615 | 615 | 606 | 599 | 590 | 568 | 547 | 535
Eleoll 20 | 63 | 85 | 95 | 118 | 142 | 169 | 185
740 | 724 | 720 | 715 | 705 | 688 | 668 | 657
ol 36 | 58 | 82 | 90 | 112 | 139 | 165
860 | 852 | 840 | 837 | 820 | 810 | 790
25| 20 | 56 | 77 | 85 | 110 | 133
"] 925 | 915 | 910 | 899 | 886 | 870

14 www.rnomac-h.com

(INdT) mold  fEinSs

(NdT) mold  feinSs

OEETEX [B)iF TAEX
Bm2-63 63ml/r
EH AP (MPa)
|5‘7‘9‘10‘12‘14‘16‘17.5|
5| 41 |60 | 76 | 83 | 98 | 112
5| 76 | 67 | 59 | 58 | 55 | 36
woll 45 | 61 | 77 | 85 | 101 | 118 | 132 | 150
10|| 146 | 138 | 130 | 125 | 120 | 102 | 87 | 67
sl 43 | 61 | 80 | 92 | 110 | 125 | 138 | 150
15|| 222 | 218 | 209 | 202 | 190 | 160 | 145 | 130
ool| 43 | 57 | 82 | 87 | 105 | 120 | 129 | 152
20|| 295 | 204 | 288 | 284 | 272 | 245 | 223 | 195
05| 48 | 56 | 76 | 86 [ 100 | 122 | 130 | 158
375 | 368 | 363 | 355 | 312 | 328 | 255 | 205
sol| 44 | 56 | 74 | 85 | 100 | 120 | 136 | 157
454 | 450 | 443 | 431 | 427 | 479 | 395 | 367
as|| 40 | 53 | 74 | 83 | 100 [ 117 | 134
505 | 523 | 517 | 516 | 501 | 492 | 472
wll 37 [ 52 | 73 | 82 | 98 | 115
600 | 598 | 594 | 592 | 583 | 572
5| 28 | 48 | 70 | 80 | o3
675 | 675 | 671 | 667 | 659
Bm2-100 100ml/r
EH AP (MPa)
|5‘7‘9‘1o‘12‘14 16‘17.5|
oll 73 | 99 | 123 | 130 | 160 | 183 | 210 | 228
1911 99 | 95 | 86 | 85 | 75 | 62 | 52 | 45
ool| 68 | 95 | 123 | 143 | 165 | 199 | 220 | 238
%0|| 199 | 195 | 187 | 182 | 175 | 163 | 150 | 138
sol| 65 | 95 | 120 | 140 | 165 | 194 | 220 | 240
|| 209 | 204 | 288 | 285 | 278 | 263 | 249 | 235
sl 59 | 88 | 119 | 135 | 161 | 192 | 218 | 238
400 | 398 | 387 | 385 | 380 | 366 | 350 | 336
col| 55 | 85 | 118 | 125 | 157 | 185 | 217 | 285
499 | 495 | 488 | 484 | 475 | 463 | 451 | 436
coll 48 | 79 | 110 | 119 | 150 | 180 | 216 | 285
500 | 595 | 587 | 585 | 579 | 568 | 550 | 536
2ol 43 | 70 | 100 | 112 | 142 | 170 | 200
699 | 692 | 687 | 683 | 679 | 668 | 645
25| 30 | 63 | 98 | 105 | 140
|| 748 | 740 | 737 | 735 | 720




mmmmLow Speed High Torque Orbital

(INdT) mold  fimss

(INdT) mold  feinss

Hydraulic Motor {REXHAIEIRLIRE DIk

OFESETEX  TETEX

Bm2-125 125ml/r Bm2-160 160ml/r
EH AP (MPa) EH AP (MPa)
|5‘7‘9‘10‘12‘14‘16‘17.5| |5 ‘7 ‘9 ‘10‘12‘14‘16 ‘17.5|
oll 90 [ 78 [ 98 | 107 [ 130 | 148 | 170 | 180 sol| 115 | 160 | 205 | 220 | 262 | 300 | 840 | 362
1911 72 | 108 | 105 | 100 | 91 | 75 | 53 | 45 91| 57 | 56 | 52 | 50 | 43 | 38 | 34 | 27
sol| 85 | 8 | 105 | 118 | 132 | 160 | 180 | 188 o0l| 115 | 160 | 206 | 230 | 265 | 320 | 855 | 380
20| 155 | 235 | 226 | 223 | 208 | 195 | 173 | 162 %%l] 119 | 115 | 110 | 108 | 102 | 95 | 84 | 76
sol| 42 | 75 | 96 | 115 | 130 | 150 | 178 | 190 o |30|| 105 | 158 | 202 | 220 | 261 | 305 | 344 | 378
236 | 360 | 356 | 345 | 330 | 320 | 300 | 283 i 184 | 180 | 177 | 172 | 165 | 153 | 134 | 130
] ]
wll 79 | 72 | 97 | 105 | 128 | 149 | 177 | 189 a0l| 100 | 145 | 195 | 218 | 256 | 209 | 340 | 875
315 | 482 | 475 | 472 | 460 | 446 | 420 | 409 - 247 | 245 | 238 | 236 | 230 | 217 | 199 | 185
| E— O | E—
ol 75 | 70 | 90 | 98 | 125 | 147 [171 | 187 = |sol| 92 | 142 | 188 | 209 | 250 | 295 | 336 | 366
399 | 615 | 606 | 599 | 590 | 568 | 547 | 535 = 307 | 305 | 300 | 298 | 290 | 280 | 261 | 244
coll 60 | 63 | 85 | 95 | 118 | 142 | 169 | 185 E |ool| 82 | 137 | 180 | 199 | 240 | 286 | 830 | 360
475 | 724 | 720 | 715 | 705 | 688 | 668 | 657 369 | 367 | 365 | 361 | 355 | 342 | 334 | 304
oll 60 | 58 | 82 | 90 | 112 | 189 | 165 2ol 65 | 120 | 165 | 180 | 223 | 282
555 | 852 | 840 | 837 | 820 | 810 | 790 436 | 435 | 430 | 427 | 415 | 402
sl 55 | 56 | 77 | 85 | 110 | 133 sl 60 | 117 [ 188 | 175 | 220
"|| 595 | 915 | 910 | 899 | 886 | 870 7| | 465 | 462 | 459 | 456 | 447
Bm2-200 200ml/r Bm2-250 250ml/r
EH AP  (MPa) EH AP  (MPa)
5 ‘ 7 ‘ 9 ‘10.5‘12 ‘14 ‘17.5| |3 ‘5‘7 ‘8‘10‘11‘14’17.5|
sol| 149 | 205 | 255 | 290 | 328 | 870 | 443 sol| 115 | 182 | 252 | 205 | 350 | 380 | 470 | 535
Ol s0 | 48 | a5 | 43 | 40 | 30 | 23 191 40 | 39 | 38 | 35 | 32 | 30 | 23 | 16
sol| 140 | 202 | 250 | 323 | 330 | 411 | 448 ool| 110 | 178 | 252 | 295 | 352 | 385 | 470 | 548
%%l 99 | 96 | 93 | 90 | 85 | 78 | 65 %%l 80 | 79 |75 |75 | 69 | 67 | 57 | 48
sol| 130 | 192 | 242 | 307 | 325 | 876 | 445 w |30|| 100 | 170 | 250 | 285 | 349 | 380 | 469 | 546
150 | 148 | 140 | 136 | 131 | 122 | 105 i 120 | 119 | 116 | 115 | 110 | 106 | 95 | 80
| &
sl| 125 | 186 | 233 | 305 | 314 | 390 | 436 40| 90 | 159 | 232 | 269 | 330 | 366 | 460 | 530
200 | 196 | 193 | 188 | 181 | 170 | 149 T 159 | 156 | 155 | 153 | 150 | 147 | 130 | 110
— o —
sol| 120 | 177 | 225 | 295 | 305 | 882 | 427 = |sol| 80 | 148 | 216 | 252 | 320 | 352 | 458 | 520
250 | 247 | 242 | 238 | 231 | 218 | 192 = 200 | 198 | 195 | 194 | 162 | 160 | 152 | 147
col| 110 | 166 | 220 | 285 | 202 | a3 E |l 75 | 130 | 200 | 235 | 305 | 340 | 488
300 | 295 | 200 | 288 | 282 | 268 240 | 240 | 238 | 236 | 232 | 228 | 210
2oll 98 | 150 | 205 | 244 | 278 2ol 50 | 117 | 190 | 220 | 290 | 820
350 | 348 | 342 | 338 | 330 280 | 278 | 278 | 275 | 270 | 267
sl 85 | 141 | 199 | 235 2s|| 42 | 105 | 180 | 210 | 280
|| 375 | 372 | 366 | 362 "°|| 300 | 299 | 298 | 207 | 294

WHSEEENHARAT 15

Shandong Rnomac Hydraulic Machinery Co.,Ltd

Z¢iNg



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} fﬁ'ﬁlﬁlﬁl&ﬂlm Machinerngo.,Ltd Y

BM2

OFESETEX  CETIEX

Bm2-305 305ml/r Bm2-400 400ml/r
EH AP (MPa) E# AP (MPa)
| 5 ‘ 7 ‘ 9 ‘ 10.5 ‘ 12 ‘ 14 ‘17.5 | | 5 ‘ 7 ‘ 9 ‘ 10.5 ‘ 12 ‘ 14 ‘17.5 |
ol 138 | 215 | 279 | 343 | 385 | 515 sol| 170 | 252 | 370 | 440 | 485 | 595 | 620
191 32 | 28 | 26 | 25 | 24 | 23 1Ol 24 | 23 | 22 | 20 | 19 | 17 | 16
sol| 135 | 216 | 288 | 350 | 380 | 508 | 552 ool| 170 | 281 | 365 | 436 | 480 | 590 | 615
%l 60 | 59 | 58 | 57 | 56 | 52 | 50 20| 48 | 47 | 45 | 44 | 42 | 40 | 36
o lso|| 125 | 205 | 275 | 340 | a75 | 494 | 543 o |so|| 154 | 278 | 355 | 426 | 470 | 580 | 610
i 93 | o1 | 90 | 89 | 88 | 80 | 79 i 72 | 70 | 68 | 66 | 63 | 60 | 59
= | = |
soll 115 | 195 | 266 | 335 | 366 | 485 | 526 ol 144 | 273 | 350 | 410 | 466 | 576 | 606
T 122 | 120 | 119 | 118 | 117 | 105 | 104 - 95 | 94 | 90 | 83 | 80 | 76 | 70
o o
= lsol| 90 | 170 | 252 | 320 | 852 | 474 | 511 = |sol| 137 | 269 | 344 | 406 | 460 | 570
= 153 | 152 | 151 | 148 | 146 | 137 | 132 = 121 | 119 | 116 | 112 | 108 | 101
Eloll 8 | 160 | 230 | 305 | 334 | 457 Eeol| 135 | 265 | 330 | 390 | 445
190 | 185 | 190 | 178 | 175 | 160 145 | 140 | 134 | 130 | 118
oll 58 | 135 | 215 | 285 | 820 ol 120 | 245 | 315 | 870
200 | 220 | 216 | 212 | 205 170 | 169 | 165 | 160
75 125 | 205 | 269 75 235 | 300
] 232 | 230 | 227 7] 176 | 170

Bm2-500 500ml/r
EH AP (MPa)
| 3 ‘ 5 ‘ 6.5 ‘ 8 ‘ 9 ‘ 13 |

10|| 200 | 345 | 462 | 582 | 635 | 755
20 | 27 | 26 | 24 | 22 | 20

oo|| 199 | 340 | 455 | 575 | 625 | 745
39 | 38 | 37 | 36 | 34 | 30

30|| 190 328 447 566 626 739
59 58 57 56 54 50

40|| 188 319 437 556 616 729
78 77 76 75 73 70

50|| 180 310 427 546 606 718
97 96 95 95 93 90

(INdT) mold eSS

eol| 175 300 416 432 597 702
118 117 115 114 112 110

7ol| 170 290 413 421 586
138 137 135 133 131

5| 160 | 278 | 402
158 | 157 | 155

FRPHIEAE(EFAHNERIEH, 50T MREHTURN, FRASKERBEE,
All the data was tested at 50 “C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

16 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

BM2 ZEZ5MEE
H
L #
S #

Hydraulic Motor {REXHAIEIRLIRE DIk

Ha A
Pori A TS i
Drain Port T |G1/4"
7/16-20UNF
A
— U ]
3|3 g
9 S S
()
\\
6.4{.8) an NGO B L
Port B
43
L1
T st | vear e
40 40 Drain Port T g:“:tX15 55
| éﬁj)lr:t :\\ ';%lr:tl 8 7/16-20UNF
) ©
J A AN g e\ Yl
j \% \ — 9 &\&% j —
- —
52.8) |[12] L
L1
4-M8-6H 55
F(oopn)13 36+0.2 _ 324015 T st | Eere
401‘102 Drain Port T ?/?]/BMZC;UNF {}
i /ﬂ\ li=
w \\ f} ()\ — <
1 -
~|| oA 5 = =
:,; Port A %&3& / :} § @@\
© — Q
ﬂ@“ o) H ’j <’_=>
N2 =
| N~ 57 9/
40£0.2 L {}
5(2.8)
L1
mﬁﬁﬁﬁfiﬁééﬁ Shaft Load Capacity:
e o o HHE owweren] 50 | 63 | 80 [ 100 | 125 | 160 | 200 | 245 | 305 | 400
Kg L(mm) | 9 [115[145] 18 |22.5|28.8| 37 |44.6] 55 | 72
400 L1(mm) | 147 [149.5/152.5| 156 [160.5/168.8| 175 [182.6| 193 | 210
325
250 E&it*’i;ﬁ‘ﬁﬁrﬂ
2000 20 2 T4 i, AMOEER, AR § e .
—t+—— A Standard Direction of The Motor Rotation:

CW----When A Port pressurized, Viewed From
the Shaft End.

WS EEENARAT {7

Shandong Rnomac Hydraulic Machinery Co. Ltd

Z¢iNg



®

4

LLI M a7 . Shandong Rnomac Hydraulic
IINIIMA(:, Eﬁ'ﬁuﬁﬂﬂ&*ﬂm Machinery Co.,Ltd
BM2 X =&E#E R~
1t 0] @80:5672 1 | @805:578 1+ 0] @80:33%2
B Pilot| @82.55:0-930 i Pilot| 82 55:9.93 ; Pilot| g5g2.55:0.93
4-11 (Height) 5 0076  4-J13.5 & (Height) 5 0.076 2-013.5 | 33.5 | 5 (Height) 5 0.076
e O
b ©106.4 T @ -\
]
= &
m \
fg@ | Vil D )ie
/ ~ O
@ O — )
N 65 ) e U/
K5 'L = =
mF E= MmFLERE= ZEq s
4BoltFIanlge 4BoltF/a/n;e Wfiﬁg f_
1F 1] @80:3:332 = @80-0-030
Pilot -0.030 850030 1E 0,076
2-913.5 335 /. 198255447 i Pilof| 007 i Pilot| 82,5503
| % (Height) 2.8 4-@11 B(Hoight) 5 4-13.5 e 0ore
SNAY g 5
U @ 2106.4 {
, - /
( / © g / 5 8 [ ( \ 8

D
p

N
o~

94
AILERE=

2 Bolt Flange

1t 1280383
4-@11 Pilot] 12 55:3:9%
& (Height) 5

%@ B
4 \

©

L\
A |
N

90

70
90

mFLAHE=

4 Bolt Flange

18 www.rnomac-h.com

A\

o) ! o oy
D 25| 725
50| 22
90 94
MFLKAE= NFLERE=
4 Bolt Flange 6 Bolt Flange

1E )
Biigt| @44.4+0.05
& (Height) 2.8

83

282.6+0.1

4-3/8-16UNC
A (Depth) 15
/~ )
]

N Y
83
mFLARE=
4 Bolt Flange



mmmmLow Speed High Torque Orbital

BM2 % tH iz 5 R ~F
/7 5 8x7x32
Parrallel
— O§
[N
l 17
40
. 43

T4 6.35%6.3x32

Parrallel

‘O‘I

Q 25.4-8.025

F42 6.35x6.3x32

o
o
3
L
o)

|
1/4-201INC
?425.4.9 obs

T4 6x6x32

Parrallel

C‘O‘I

320-8.025

1/4-20UN

SEIEHE 6D-25%22x6

Re\xtangle Spline
S a
\! 5

Oz T

28

Hydraulic Motor {REXHAIEIRLIRE DIk

4§ 8x7x32
Parrallel

0
8-p.036

1250041

45

48

4 6.35%6.3x32

o
;]
o
@

F42 6.35%6.3x32

Parrallel 0
5 6.35-0,03
O g
Z 9 ™)
SR 0% °g
o & N
17 |= @
42
45

SR 6D-25.4x21.5%6.25

\ Rectangle Spline

A25.40 0%

Z¢iNg



®

4

RNOMACIQN, Ii i 1a [ HL#

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM2

BM2 ZEH DA RIEHER T

7/16-20UNF

T~
/ m \ @147.6

65

@127.0.08

\& 4-13.5

Epuys:3dok
i s, AR, DIRIRRT e

SO A | Moaxi 561 n
FEBE 47 Port A|Mzocisen T st | s
Slotted Nut ) Drain Port T|G1/4
mL \
354 © 3
B s ! <
M e o w o o
F N H o
| : = §
Ll © [Tel -
S (A N B
\k= m
-
|-
MO B L
AL19 Port B
L1
HF% Displacement 80 100 125 160 200 245 305
L (mm) |14.5| 18 [22.5|28.8| 37 |44.6| 55
L1(mm) [131.5| 135 [139.5[147.8| 154 |161.6| 172

BM2 ZE# 5k R4 HiRiZEE R~

20 www.rnomac-h.com

fERESE 6D-30x26x6
Rectangle Spline

. 20,
] =
CECHES S
’ [se]
n 8
7. 32
415

JERTESE 6D-25x26x6
Rectangle Spline

o\ 17
i «
I_ B ﬁ
7. 28
40
i @31.75
W 5
354
\ - [
T ‘ s
L =~
S —
N :3 8

EL;E. 8 _/E

Q

Tapered

Standard Direction of The Motor Rotation:
CW----When A Port pressurized, Viewed From
the Shaft End.

52 8x7x32

Parrallel
32 5
b E

125004

17

40

42 6.35%6.35x32

Parrallel

CED

1/#-20UN
d25.450.01

—
=]
|




mmmmLow Speed High Torque Orbital

BM2 H|Zhi&E DL &5
BM2HIZiR E Dt R —MERBEX AMNIRE DA, FHRE., A, AREFHREDRMRYE, FHXHE
KRERELM, KANMPMBHTE. BESEESERABTENELBERTI DL, EATEXNMENREHHES
& TE. TE, #@E%E,

Hydraulic Motor {REXHAIEIRLIRE DIk

O A 2-613.5
PortA ’::@]ﬁ
%@% iR
3 4 8! g /éj)\ Q fé 3
YARYE) N2/ g -
ANPA
T Mk O
;0 B — -
Po B 8% \w
L1 85
90
(5 w
4-611
— 40 ) (7
5 ® O N@? .
OO SR EEER NSO
S > ° N2
L&y N ||
. H D &
HO A MO B L
PotA  PortB - \ 99
L1 W EIRAT
OARREREm
S oweomen| 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250 | 305 | 400 E At i AOdEE, DKIRE S .
L(mm) | 9 |11.5/145] 18 |225|288| 37 |446| 55 | 72 |  Standard Direction of The Motor Rotation:
L1(mm) | 216 [218.5]221.5| 225 | 230 | 236 [242.5[251.5| 262 | 279 CW-—When A Port pressurized, Viewed From the
Shaft End.
OiA%gE .
OikEaAH S HER /N A320N.m, BHEHREEH1.7MPa,
ikt
1, MEREHWEER: BHD. EHES. EIPREHE;

2,
3.
4,
5

~

RN, EER. REER: DEASHNERE—MEK, aRBN. EERR, FHEE, MEEDTRE;
MNEHFaK: ERRFOAFGERK. EEZREREMBEH, NEXRBME+AR, SR THEEERT;
RER: RASEEXFZ, MNELRERGHHET, TSEEES, EREITHRNE;
MNENES: ERRFXASREARMR, AMKRSMEER, BREZEALAE,

Z¢iNg



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁl1ﬂ}£$nm Machinerngo.,Ltd Y

BM2

BM2 B4 Wi H Dik &5

o4 2-M147%16 o4 60
'/ i — T
(] /
> O s
g8 —— 8 ] — &
3 AN A = %
2 NN ] :
A<y C ASY
3 \J
WO A O B —
Port A Port B
5 40 5 L
L1
HEE Dspecenent| 50 | 63 | 80 [ 100 | 125 | 160 | 200 | 245 | 305 | 400
L (mm)| 9 [115[145| 18 [22.5(28.8| 37 |44.6| 55 | 72
L1 (mm) | 232 [234.5[237.5| 241 [245.5|251.8| 260 |267.6| 278 | 295
WO A
Port A 2-$13.5 55
>
C 1 r &j ————
o ()
N /
) (A
&ﬁ
5 2 L
O B
Port B
L1
O RFRAERER) :

B XTCEI4 i hahin, AsmOEEH, DA S s .
HEE ospeoeren| 50 | 63 | 80 | 100 | 125 | 160 | 200 | 245 | 305 | 400 Standard Direction of The Motor Rotation:

L(mm) | 9 |115|145| 18 |22.5|28.8| 37 |44.6| 55 | 72 CW----When A Port pressurized, Viewed From the
L1(mm) | 168 [170.5[173.5| 177 |181.5[187.8| 196 [203.6| 214 | 231 Shaft End.

M SE4E 8x7x32 SE4E 6.35x6.3x32
Parrallel 0 Parrallel 0
i 5 8_—‘0.0‘36 \ 5 6.35-0.03
S ; ol ©9 J
L3 )< G=TEAIRT o7 B
S 2 S
A7 VAR
40 40
M 43 43

22 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

BM2 B4 Wi H Dk R 51

MO A
Port A 4 B
a s /I\ M
& |
C T S IE L)
< g -:I
(IR
>~J T
I yan EIN
O A 4 L L
5 12 | PortB . ]
L1
. 36+0.2 _ 32+0.15
—— #mA B -
Port B 4040.2
'\\ -M
— O A - -

C E Port A // :| D
gl = D
™)

S \)\ O _
" W T/ _
- \/ _j \_
40+0.2 I
- . B
5 12 " ;
L1
D
Cc D
2-$13.5 55 o5 s
HEE Dislacement L (mm) L1 (mm)
% S0 9 229 &
80 14.5 234.5
125 22.5 242.5
/é;\ 160 28.8 248.8 /fi;\
3/ 200 37 257 &)
245 44.6 264.6
305 55 275
400 72 290

o
N

Hydraulic Motor {REXHAIEIRLIRE DIk

Z¢iNg



4

RNOMACIQI itk R ML

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM2

BM2 1T {5 &

=R ASE HEE/ S
b7 4 % ma 50 63 80 100 125 160 200 245 305 400
SEIG1/2 | 121-0010 | 121-0011 | 121-0012 | 121-0013 | 121-001a | 121-0014 | 121-0015 | 121-0016 | 121-0017 | 121-0018
¢ 25484 T | SEIG1/2;
426.35 1/4— | SMESMO | 121-0360 | 121-0361 | 121-0362 | 121-0363 | 121-036a | 121-0364 | 121-0365 | 121-0366 | 121-0367 | 121-0368
20UNC M14X1.5
SEIG1/2;
Shittsd O | 121-0370 | 121-0371 | 121-0872 | 121-0373 | 121-037a | 121-0374 | 121-0375 | 121-0376 | 121-0377 | 121-0378
Gi/4
ZE; kO $ 25454
- $6.35 HumiE | SEIG1/2 | 121-0340 | 121-0341 | 121-0342 | 121-0343 | 121-034a | 121-0344 | 121-0345 | 121-0346 | 121-0347 | 121-0348
$82.55
ZIM8
SEIG1/2 | 121-0020 | 121-0021 | 121-0022 | 121-0023 | 121-002a | 121-0024 | 121-0025 | 121-0026 | 121-0027 | 121-0028
SEIG1/2;
¢251NE$“’ FiEs Shitttsd | 121-0060 | 121-0061 | 121-0062 | 121-0063 | 121-006a | 121-0064 | 121-0065 | 121-0066 | 121-0067 | 121-0068
iRt 4IM8 Gi/4
SEIG1/2;
Shitts | 121-0080 | 121-0081 | 121-0082 | 121-0083 | 121-008a | 121-0084 | 121-0085 | 121-0086 | 121-0087 | 121-0088
M14X1.5
®7. ¢ 25E 4 T8 1 ) ) . ) . ) ) ) ) )
ZW; 1E0 ¢ 80 BRI M8 SEIG1/2 | 121-0310 | 121-0311 | 121-0312 | 121-0313 | 121-031a | 121-0314 | 121-0315 | 121-0316 | 121-0317 | 121-0318
#; 10O - SEIG1/2;
$82.55; A ¢2‘1Em 28 ShitS | 121-0280 | 121-0281 | 121-0282 | 121-0283 | 121-028a | 121-0284 | 121-0285 | 121-0286 | 121-0287 | 121-0288
ks §ﬂiﬂﬁﬁﬂ§ZIM8
RN G1/4
M18X1.5;
Fohs 1 | 1210090 | 121-0081 | 121-0082 | 121-0083 | 121-003a | 121-0034 | 121-0085 | 1210036 | 121-0087 | 121-0038
¢ 25E 5l F#8
HmIELIM8 | M18X1.5;
Shitts | 121-0150 | 121-0151 | 121-0152 | 121-0153 | 121-015a | 121-0154 | 121-0155 | 121-0156 | 121-0157 | 121-0158
. M14X1.5
F#; 1EO ¢ 80
meD-25x22x6 | M18X1.5;
e SNt | 121-1110 | 121-1111 | 121-1112 | 121-1113 | 121-111a | 121-1114 | 121-1115 | 121-1116 | 121-1117 | 121-1118
w2 aIM8
M14X1.5
¢2EL“E$H]‘_T|Z%8 LEIG1/2 | 121-0170 | 121-0171 | 121-0172 | 121-0173 | 121-017a | 121-0174 | 121-0175 | 121-0176 | 121-0177 | 121-0178
R iR 4IM8
- - M18X1.5;
7if; L0 ¢25§m 28 SMitsm T | 121-0200 | 121-0201 | 121-0202 | 121-0203 | 121-020a | 121-0204 | 121-0205 | 121-0206 | 121-0207 | 121-0208
$ 82.55 Hhn 2 5IM8
M14X1.5
$25.4EH F | SEIG1/2;
$£6.35 GHumdE | SMtiHRO | 121-0200 | 121-0291 | 121-0292 | 121-0293 | 121-029a | 121-0204 | 121-0295 | 121-0296 | 121-0297 | 121-0298
ZIM8 G1/4
o - SEIG1/2;
ReZE#; bR ¢25§m 28 SNt | 121-0640 | 121-0641 | 121-0642 | 121-0643 | 121-064a | 121-0644 | 121-0645 | 121-0646 | 121-0647 | 121-0648
$ 82.55 SR I M8 Gi/a
tH6D- SEIG1/2;
25.4X21.5X6.25 | 4bhittsl O | 121-1010 | 121-1011 | 121-1012 | 121-1013 | 121-101a | 121-1014 | 121-1015 | 121-1016 | 121-1017 | 121-1018
1/4-20UNC G1/4
- M18X1.5;
LETE R, ¢25§m;§28 SMit T | 121-0140 | 121-0141 | 121-0142 | 121-0143 | 121-014a | 121-0144 | 121-0145 | 121-0146 | 121-0147 | 121-0148
1EM ¢ 80 Hhin 2 5IM8
M14X1.5
flange105X65; |%H6D-25X22X6 [ M18X1.5;
100 .80 BRI aMS | Feshit e | 12171180 | 1211181 | 121-1182 | 121-1183 | 121-11ga | 121-1184 | 121-1185 | 121-1186 | 121-1187 | 121-1168

24 www.rnomac-h.com




mmLow Speed High Torque Orbital

BM2 Ordering Information

Hydraulic Motor {REXHAIEIRLIRE DIk

Feature Displacement/NO.
Flange Shaft Oil port 50 63 80 | 100 | 125 | 160 | 200 | 245 | 305 | 400
Stype G1/2 |121-0010 | 121-0011 | 121-0012 | 121-0013 | 121-001a | 121-0014 | 121-0015 | 121-0016 | 121-0017 | 121-0018
$25.4 Flat S type
key'6.35:shaft | G1/2;drain port | 1210360 | 121-0361| 121-0362 | 121-0363 | 121-036a | 121-0364 | 121-0365 | 121-0366 | 121-0367 | 121-0368
thread:1/4-20UNC | M14X1.5
Stype G112 |51 4370 (121-0371| 1210872 | 121-0373 | 121-037a | 121-0874 | 1210375 | 121-0376 | 121-0877 | 121-0378
drain port G1/4
254 Flat
Rhomb-flange; | key:6.35;shaft | Stype G1/2 |121-0340|121-0341 | 121-0342 | 121-0343 | 121-034a | 121-0344 | 121-0345 | 121-0346 | 121-0347 [ 121-0348
piolt: $ 82.55 thread:M8
Stype G1/2 | 121-0020 | 121-0021 | 121-0022 | 121-0023 | 121-002a | 121-0024 | 121-0025 | 121-0026 | 121-0027 | 121-0028
¢ 25 Flat S type G1/2;
key8ishaft | g P 71 |121-0060  121-0061  121-0062 | 121-0063 | 121-006a  121-0064 |121-0065 | 1210066 | 21-0067 |121-0063
thread:M8
S type
G1/2;drain port | 121-0080 | 121-0081 | 121-0082 | 121-0083 | 121-008a | 121-0084 | 121-0085 | 121-0086 | 121-0087 | 121-0088
M14X1.5
Rhomb-flange; e He
mo-flange; key:8;shaft Stype G1/2 |121-0310 | 121-0311 | 121-0312 | 121-0313 | 121-031a | 121-0314 | 121-0315 | 121-0316 | 121-0317 | 121-0318
Pl 6 E thread:M8
_ 25 Flat _
RU@TI= e key:8;shaft S type G112, 1451 4080 121-0281 | 1210282 | 121-0283 | 121-028a | 121-0284 | 121-0285 | 121-0286 | 121-0267 | 121-0288
piolt: ¢ 82.55 thread:M8 drain port G1/4
525 Flt M18X1.5;  |121-0030 1210031 | 121-0032 | 121-0033 | 121-003a | 121-0034 | 121-0035 | 121-0036 | 121-0037 | 121-0038
key:8;shaft
thread:M8 M18X1.5;drain
Dort Miax 15 | 121-0180 1210151  21:0152| 121-0153 | 121-015a  121-0154 | 1210155  121-0156 | 121-0167 |121-0158
Square flange; )
piolt: ¢ 80 Shaft 6D- o
25X21.5X6;shaft | M18X1-5:drain | o4 46 1ot 4941 | 1210412 | 1214113 | 121-411a | 121144 | 1211115 | 121-1116 | 1214117 | 121-1118
thread:Mg | POEM14X1.5
25 Flat
key:8:shaft Ltype G1/2  [121-0170]121-0171(121-0172 | 121-0173 | 121-017a | 121-0174 | 121-0175 | 121-0176 | 121-0177 | 121-0178
thread:M8
_ ¢ 25 Flat -
Squareflange; | o g oo | MIBXT.5draIn | 451 1000 | 1210201 [ 121-0202| 1210203 | 121-020a | 121-0204 | 121-0205 | 121-0206 | 121-0207 | 121-0208
piolt: $ 82.55 thread:M8 port M14X1.5
¢ 25.4 Flat S type
key:6.35:shaft | G1/2:drain port |121-0290 | 121-0291 | 121-0292 | 121-0293 | 121-029a | 121-0294 | 121-0295 | 121-0296 | 121-0297 | 121-0298
thread:M8 G1/4
()29 A S type G1/2;
4 bolt flange; key:8;shaft drai%’p G4 | 121:0640 | 1210641 121-0642 | 121-0643 | 121-064a | 121-0644 | 121-0645 | 121-0646 | 121-0647 | 121-0648
piolt: ¢ 82.55 thread:M8 P
Shaft 6D- -
25.4X21.5X6.25; | x5 eain port | 121-1010| 121-1011 | 121-1012 [ 1211013 | 121-101a | 121-1014| 121-1015 | 121-1016 | 121-1017 | 121-1018
shaft thread:1/4- G1/4
20UNC
_ ¢ 25 Flat e
flange105X85; |\ o gchatt | MIBX1-5:draIn | 151 4140 1210141 [ 121-0142| 1210143 | 121-014a | 121-0144 | 121-0145 | 121-0146 | 121-0147 | 121-0148
piolt:p80 thread:M8 port M14X1.5
flange105X65; Slrizii BE
gel " | 25X21.5X6:shaft | M18X1.5; |121-1180 | 121-1181 | 121-1182 | 121-1183 | 121-118a | 121-1184 | 121-1185 | 121-1186 | 121-1187 | 121-1188
=6 E thread:M8

WSS E A RAF 05

Shandong Rnomac Hydraulic Machinery Co.,Ltd

¢Ngd



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁlﬁl&*ﬂﬁ Machinerngo.,Ltd Y

BM2

R 24 E-B2 AR5 Tk

2

w

1
B M 2

fIE 123—BM2RFILiE
Position ~ BM2 series motors
fIE 4—H=ECC/R
Position  displacement

0—>50

1—63

2——=80

3——100
a—125
4——160
5——200
6——250
7—305
8——400
9——500

E S5——k=fmiEn
Position ~ Flange and pilot
A—27LEREZ, 1IEO ¢ 80x2.8mm

2 bolt flange , pilot ¢ 80 x 2.8mm
B—27L&E®iE=, IO ¢ 82.55x2.8mm

2 bolt flange , pilot ¢ 82.55 x2.8mm
C—27L&E®ix=, 1EA ¢80 x5mm

2 bolt flange , pilot ¢ 80 x 5mm
D—27L&EHiE=, 1EO $82.55x5mm

2 bolt flange , pilot ¢ 82.55 x 5mm
E—47LE R %=, 1E0 ¢80%x5mm

4 bolt flange , pilot ¢ 80 x 5mm
F—47LZERiE=, 1EO ¢ 82.55x 5mm

4 bolt flange , pilot ¢ 82.55 x 5mm
G—4fLAFE=, 1EO ¢ 80x5mm

4 bolt flange , pilot ¢ 80 x 5mm
H——4FLAFiEZ, 1EO ¢ 82.55 x 5mm

4 bolt flange , pilot ¢ 82.55 x 5mm
l—4FLAFiE=, 1IEA ¢85 x5mm

4 bolt flange , pilot ¢ 85x5mm
J—AFLAREZ, I ¢44.4x2.8mm

4 bolt flange , pilot ¢ 44.4 x2.8mm
K—6FLERiE=, 1EO ¢ 80x5mm

4 bolt flange , pilot ¢ 80 x 5mm
L—6FL&ER X, 1EO ¢ 82.55x5mm

4 bolt flange , pilot ¢ 82.55 x 5mm

26 www.rnomac-h.com

L& 6 Mt
Position  shaft
0— ¢ 25E 4, FHE8x7x32
¢ 25 shaft, flat key 8 x7 x 32
1— ¢ 25H %5, F#6.35x6.3x32
¢ 25 shaft, flat key 6.35x6.3x 32
2—— ¢ 25.4H%H, F#6.35x6.3x32
¢ 25.4 shaft, flat key 6.35x6.3 x 32
3— ¢ 20EH, FH6x6x32
¢ 20 shaft, flat key 6 x 6 x 32
4——IE I FEIH6-25.4 x 21.5 % 6.25
Splined shaft 6-25.4x21.5x6.25
5——4E T HEEH6-25x 22 x 6
Splined shaft 6-25x22x 6

g 7—im0
Position  oil port
A—G1/2
B——M22x 1.5
C——1/2-14NPTF
D——2G1/2
E—M18x 1.5
F——M20x 1.5
G——7/8-14UNF
E 8 ittimO
Position  drain port
0—*%
1—M14x 1.5
2——G1/4

3——7/16-20UNF
fE 9 BEEA
Position  paint color
A—HEL R
B—iI#*E& black
C—E&% blue
E—4O% red
F—ARBH%E  no paint
fIE 10 HEE
Postion rotation direction
A—HniE

standard
B——& [

opposite




rmmmmmmLow Speed High Torque Orbital
Hydraulic Motor {REXHAIEIRLIRE DIk

BM3 %73
Series
SEAYF R Characteristic features:
- RAERREE T, EEESEHEE R - It adapts the gerolor design, which has a higher distribution accuracy and Mechanical
B, efficiency.
- BURBhARILTT, BEAERKHMEAEEET. - Double-rolling bearing design, which has a greater lateral load capacity.
- AT BRTNE, AFEES, AILRHFBEFER. - Credible design of shaft seal, which can bear higher pressure and be used in parallel
- ERFFRESE, HRFER. or in series.
- ZFRO. Hdih, EZEEERR. - Direction of shaft rotation and speed can be controlled easily and smoothly.

- A variety of connection types of flange, output shaft and oil port.

TEMESH
Main Specification

1.BEXITEEHENOGXKEN, SIEEHIEIEEEZ, 1. Intermittent means the entrance of the maximum pressure; continuous working
2 DR ER K E S SHEE T THE pressure means the differential pressure.

2. Motor should not work under the highest pressure and the maximum speed.

N Lyt T 48 3
SEMESETRMT, BITHEGHMAGEL10%, 3. The running time should not exceed 10% under intermittent working
4 37 FRGBH#HEERIE M, #hE37-73cSt,EEEISO18/13, conditions.

5.5: 5 L{EHiE80C, 4. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness

1SO18/13.
5. The Maximum working teMPerature is 80°C.

6.DiE R TIERT, MERS LIEETH40% A TES 1/,
7.9k FREEEI1OMPa, BZIWAEBE5MPa, @idr i - . ) .
6. One hour running time under 40% of maximum working pressure is

ShittHE recommended before full capacity working.
7. The maximum allowable back pressure is 10MPa, but the recommended back
pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

WS EENWARAT D7

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} fﬁ'ﬁlﬁl’fﬂﬁﬂl.m Machinerngo.,Ltd Y

BM3

BM3 gﬁugitll‘iﬁgéjﬁi OEETEX |8 TAEX
Performance Data
Bm3-100 100ml/r Bm3-160 160ml/r
E5 AP (MPa) E5 AP (MPa)
| 3 ‘ 5 ‘ 7 ‘ 8 ‘10 ‘12.5‘15 | | 3 ‘ 5 ‘ 7 ‘ 8 ‘10 ‘12.5‘15 |
gll 3 | 59 | 83 | 97 | 121 | 147 || 56 | 94 | 134 | 155 | 193
81| 75 | 74 | 72 | 70 | 69 | e6 81| 47 | 46 | 45 | a4 | 42
ll 35 | 60 | 85 | 98 | 125 | 148 | 173 oll 56 | 95 | 135 | 156 | 195 | 238
"®|| 150 | 147 | 144 | 141 | 138 | 133 | 128 || 94 | 93 | 91 | 90 | 85 | ‘82
o loo|| 3¢ | 50 | 84 | 98 | 125 | 147 | 170 o loo|| 55 | 94 | 135 | 155 | 193 | 236 | 278
i 207 | 202 | 198 | 194 | 189 | 183 | 178 i 138 | 137 | 135 | 134 | 130 | 125 | 120
B B
sol| 3 | 57 | 82 | 95 | 123 | 143 | 168 sol| 54 | 93 | 135 | 154 | 193 | 235 | 275
- 082 | 276 | 270 | 267 | 264 | 258 | 248 - 176 | 175 | 173 | 170 | 166 | 160 | 156
o o
2 ls6l| 32 | 55 | 80 | 93 | 120 | 140 | 165 = |s6l| 53 | 92 | 133 | 153 | 191 | 282 | 270
= 338 | 331 | 324 | 320 | 317 | 309 | 295 = 212 | 211 | 210 | 209 | 205 | 200 | 195
Elsl| 30 | 52 | 78 | 9 | 113 | 136 Elsll 52 | 90 | 130 | 150 | 187 | 228
423 | 414 | 405 | 400 | 396 | 387 264 | 263 | 260 | 259 | 255 | 250
ss|| 25 | 49 | 76 | 88 | 108 | 134 ss|| 50 | 86 | 125 | 147 | 180
517 | 506 | 495 | 489 | 484 | 473 323 | 322 | 319 | 318 | 313
65 46 | 75 | 85 | 105 65 82 | 120 | 141
] 611 = 598 | 585 | 578 ] 382 | 380 | 378
H4E(N-m):105
3% (rpm):578
Bm3-200 200ml/r Bm3-250 250ml/r
E5 AP (MPa) EH AP (MPa)
| 3 ‘ 5 ‘ 7 ‘ 8 ‘ 10 ‘ 11 ‘12.5 | | 3 ‘ 5 ‘ 7 ‘ 8 ‘ 10 ‘ 11 ‘12.5 |
gll 70 | 118 | 167 | 193 | 242 | 258 || 87 | 147 | 208 | 242 | 302
81| 38 | 37 | 35 | 34 | 30 | 26 8| 30 | 29 | 28 | 27 | 25
ll 72 | 120 | 170 | 195 | 245 | 260 | 294 iol| 8 | 150 | 210 | 245 | 306 | 323 | 862
75 | 74 | 72 | 71 | 68 | 66 | 60 "®l| 60 | 59 | 58 | 57 | 55 | 50 | 48
o loo|| 71 | 120 | 168 | 193 | 244 | 253 | 202 o loo|| 86 | 150 | 210 | 243 | 304 | 320 | 6O
i 103 | 102 | 100 | 99 | 95 | 94 | 88 i 83 | 8 | 80 | 78 | 75 | 73 | 70
B B
sol| 70 | 118 | 166 | 191 | 242 | 251 | 288 so|| 84 | 148 | 208 | 240 | 300 | 315 | 385
T 141 | 140 | 138 | 137 | 134 | 131 | 126 T 113 | 112 | 110 | 109 | 105 | 103 | 100
o — o
= |agl| 68 | 115 | 162 | 187 | 237 | 248 | 280 = |s6l| 80 | 143 | 208 | 235 | 295 | 310 | 851
e 160 | 168 | 166 | 164 | 160 | 156 | 150 e 135 | 134 | 132 | 131 | 127 | 125 | 120
E ||| 65 | 110 | 156 | 182 | 232 | 242 E|ll 75 | 140 | 200 | 230 | 290 | 305
212 | 211 | 209 | 208 | 204 | 200 169 | 168 | 166 | 165 | 160 | 158
- 105 | 152 | 180 | 230 | 2838 55 135 | 195 | 225 | 284
258 | 256 | 255 | 250 | 248 206 | 205 | 208 | 200
65 100 | 145 | 175 | 225 o5 130 | 190 | 220
] 306 | 305 | 302 | 300 %] 044 | 243 | 240

28 www.rnomac-h.com



mmmmELow Speed High Torque Orbital

(NdT) mold  jnSs

Hydraulic Motor {REXHAIEIRLIRE DIk

OFEETEX 1EIEX

Bm3-305 305ml/r Bm3-400 400ml/r
E5 AP (MPa) E# AP (MPa)
|3‘4‘6‘8‘10‘12.5| |3‘4‘6‘8‘9‘11|
g|| 110 | 148 | 225 | 305 | 380 g|| 139 | 188 | 286 | 387 | 435
8[| 224 | 23 | 21 | 17 | 13 Bl 19 | 18 | 97 | 15 | 12
s6ll 111 | 148 | 227 | 308 | 380 | 450 s6l| 139 | 190 | 288 | 390 | 436 | 513
48 | 47 | 45 | 42 | 38 | 32 || 38 | 37 | 35 | 33 | 82 | 30
ool| 110 | 147 | 206 | 307 | 379 | 448 w |oo|| 138 | 188 | 288 | 300 | 485 | 510
66 | 65 | 63 | 61 | 58 | 50 i 53 | 52 | 50 | 48 | 47 | 45
i a2
sol| 109 | 145 | 222 | 305 | 377 | 444 so|| 137 | 186 | 286 | 388 | 433 | 508
9 | 89 | 87 | 85 | 81 | 77 T 71 | 70 | 68 | 66 | 64 | 60
as|| 105 | 141 | 219 | 300 | 872 | 440 = |g6l| 135 | 182 | 282 | 385 | 430 | 505
107 | 106 | 104 | 102 | 100 | 97 = 85 | 84 | 82 | 80 | 78 | 73
4s|| 100 | 137 | 215 | 295 | 367 E|sl| 130 | 176 | 277 | 880 | 424
134 | 133 | 131 | 128 | 125 106 | 105 | 103 | 100 | 98
5 130 | 210 | 290 | 360 ss|| 123 | 170 | 270 | a72
164 | 162 | 160 | 157 129 | 128 | 126 | 124
200 | 285 160 | 260
%] 190 | 189 ] 150 | 148

RPHIRTEE AesHAERIEM, 50C MBEFTMXN, FRDSXERBEEE,

All the data was tested at 50 C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

W S5 E LA RAF DQ

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd

€Ng



®

4

RNOMAC )

Shandong Rnomac
Machinery Co.,Ltd

I ia R AL

Hydraulic

BM3

BM3 &5 frERYERE R T

a: M22X1.5-6H
b: M18X1.5-6H

ﬂ-iﬂa H Jc/None

=

Drain Port T (M14X1.5

o

#110

-0.036

1+ 2100338
4-213 Pilot] #85:3:935
B & (Height) 7.5

120

7.5 15
62 46 L 120
L1
M AL Shaft Load Capacity:
ZM%% Radial Load: 800Kg Max. =
mrﬂﬁg{ Axis Load : 300Kg Max. HFE Displacement 100 160 200 245 305 400
Kg L (mm) | 18 |28.8| 37 |44.6| 55 | 72
800 L1(mm) | 191] 202|175 [217.6| 228 | 245
600
300 E it*/i:{;ﬁ}jﬁ FEJ H
21 10 0 10 20 28mm s s [TIRS \ .
T X i dhahs, ASBIOEEH, DikIReTEiEs: .
——t+—— Standard Direction of The Motor Rotation:
! CW----When A Port pressurized, Viewed From the Shaft
End.
BM3 % 514 i i R~
RERIEHR 6D-303%x26x8 E§E 8x7x28 g 8x7x28
Rectangle Spline Parrallel 4!:"arralle|
< .20 / N 4 N _ N
= o 8§ o §F
S SR o3 =g 3 \ g8 & £
= B < g N &
232 15| 20 20
41.5 36 36
45 38.5 . 38.5 |
SEM T2 6D-302%x26x8 FEMTEE 6D-258%x22%6 sETSTEEE 6D-303%X26x6
Rectangle Spline Rectangle Spline
2 N oW, Py N
57 1 | 22 i
33.5
66.5 e
70 |

30 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

BM3 & 5IEtRERZERER T

Hydraulic Motor {REXHAIEIRLIRE DIk

. #1003:838
T ;ﬂi;EEEI Jc/None 4-213 Pjtwlo ‘2)858%30890
76 Drain Port T|M14X1.5 5% & (Height) 7.5
| 225 225 /1
{} D) 3
J
B !
N/ W7~ e .
| N L7 m RS -
L ,@
\V —
| — N
5.5 15 55
120
i 3EE S Shaft Load Capacity:
2-222 20,16 2-M18X1.5 2-212 RZM%# Radial Load: 800Kg Max.
AY MELiE  Axis Load :  300Kg Max.
‘ \N f/ 500
pEm /e
3 600
- 300
% 21 10 0 10 20 28mm
:'  ——
_ T
— L
L1 | =
OikkRAERER:
HEE oispecenent| 100 | 160 | 200 | 245 | 305 | 400 TN s, A O, DIAIRETS e
L (mm) 18 |28.8| 37 |446| 55 | 72 . . L
Lymm) [ 797 [ 202 [ 175 [217.6| 228 [ 245| Standard Direction of The Motor Rotation:
CW----When A Port pressurized, Viewed From the Shaft
End.
BM3 % 514 H i #E R~
SERAEE 6D-305x26x8 FigE 8x7x28 i 8x7x28
Rectangle Spline Parrallel 4l.:’arrallel
T 2% o [ e [
p= i o &3 Lo &3
SHEH R 0 7S Sy & g Z
=3 QT N
S 32 b 20 20 |
41.5 36 36
45 38.5 38.5
R FESE 6D-301%x26x8 JER TR 6D-251x22x6 SEESE 6D-30%26x6
Rectangle Spline W Redtangle Spiine
20, / 2/ T .20,
< 16| [ee! g
S? [ F = | % ez,
57 11 2§3 55 232 B
66.5 y
70 3z —4a

L o 55 0% E ALBLE IR 4 ) 31

Shandong Rnomac Hydraulic Machinery Co. Ltd

eNg



4

RNOMACIQ, Tii% 7 [ HL4%;

®

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM3

BM3 iT&{EE

RS L]
E= Tk pi: | 100 160 200 245 305 400
b 254 F# | M22X15; it _ _ _ _ _ _
o s | owists™ | 131-0050 | 131-0051 | 131-0052 | 131-0053 | 131-0054 | 131-0055
305 F& | M22X15;
o i | | owias | 131-0070 | 131-0071 | 131-0072 | 131-0073 | 131-0074 | 131-0075
¢ 32E M T | M22X1.5; it
b iius | | oaiats | 131-0090 | 131-0091 | 131-0092 | 131-0093 | 131-0094 | 131-0095
BH6D-30X26X6 | M22X15;
inpeplit | L : 13121010 | 131-1011 | 131-1012 | 131-1013 | 131-1014 | 131-1015
M22X1.5;
t o1 | HeD-20000%6 | Ditekts 131-1030 | 131-1031 | 131-1032 | 131-1033 | 131-1034 | 131-1035
L; bp | HERELME MQEXJH;E E# | 431-1060 | 131-1061 | 131-1062 | 131-1063 | 131-1064 | 131-1065
$100 " —FRED30%o6X6 | W2aX15; W
Mseana | Diiecs | 13171130 | 131-1131 | 131-1132 | 131-1138 | 131-1134 | 131-1135
$16D_30X26X8 | M22X15; 1
mmﬁ%ﬂﬁm XSS! | 43121070 | 1311071 | 1311072 | 181-1078 | 131-1074 | 131-1075
6D-30X26X8 | M22X15;
St %mqm 131-1020 | 131-1021 | 131-1022 | 131-1023 | 131-1024 | 131-1025
M22X1.5; 1
HED-30X26X8 | | aiekis | 1311040 | 131-1041 | 131-1042 | 131-1043 | 131-1044 | 131-1045
a2 1311090 | 1311091 | 131-1092 | 131-1093 | 131-1094 | 131-1095
M22X1.5;
4013 | wen prooxs | gwan | 19171100 | 1911101 | 1311102 | 131-1108 | 1311104 | 111105
85 IR IREIMS M2D2>h</|11.2);(1ﬂ§;ﬂ1 1311120 | 131-1121 | 131-1122 | 131-1123 | 131-1124 | 131-1125
BMS3 Ordering Information
Feature Displacement/NO.
Flange Shaft Oil port 100 160 200 245 305 400
%25 Flat M22X1 5,
key:8;shaft | drainport | 131-0050 | 1310051 | 131-0052 | 131-0053 | 131-0054 | 131-0055
thread:M8 M14X1.5
$ 30 Flat M22X1.5;
key:8ishaft | drainport | 1310070 | 131-0071 | 1310072 | 1310073 | 131-0074 | 131-0075
thread:M8 M14X1.5
$ 32 Flat M22X1.5;
key:10;shaft | drainport | 1310090 | 131-0091 | 131-0092 | 131-0093 | 131-0094 | 131-0095
thread:M8 M14X1.5
shaft6D-
30X26X6 shaft | M22X1.5; | 131-1010 | 131-1011 1311012 | 1311013 | 1311014 | 131-1015
threadM14
M22X1 5,
_ drainport | 131-1030 | 131-1031 | 1311032 | 131-1033 | 131-1034 | 131-1035
shaft6D M14X1 5
Bolthole:4- | 30X26X6 shaft -
¢ 131‘5(')'01 Lileactl M22X15 | 131-1060 | 131-1061 | 1311062 | 131-1063 | 131-1064 | 131-1065
shafteD- M22X1 5,
30X26X6 shaft | drainport | 131-1130 | 131-1131 1311132 | 1311133 | 1311134 | 131-1135
threadM14 M14X1.5
shaft6D- M22X1.5;
30X26X8 shaft | drainport | 131-1070 | 1311071 | 131-1072 | 131-1073 | 131-1074 | 131-1075
threadM8 M14X1.5
shaft6D-
30X26X8 shaft | M22X1.5; | 1311020 | 1311021 | 1311022 | 131-1023 | 131-1024 | 131-1025
threadM12
M22X1 5,
shafteD- drainport | 131-1040 | 131-1041 | 131-1042 | 131-1043 | 131-1044 | 131-1045
30X26X8 shaft | _M14X1.5
threadM14 1 M22x15; | 1311000 | 131-1091 | 1311092 | 1311093 | 131-1094 | 131-1095
Botthole:d. | shaft6D. M22X15; | 131-1100 | 131-1101 1311102 | 131-1103 | 1311104 | 131-1105
¢ 13;Pilot | 25X22X6 shaft | M22X1.5;
85 threadM8 drainport | 131-1120 | 131-1121 1311122 | 1311123 | 1311124 | 131-1125
M14X1.5

32 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

B SHS-BU3RFI DA

Hydraulic Motor {REXHAIEIRLIRE DIk

1 2 3 6 7 8 9
B M 3
fiE 123 —BM3EF 5% g 7—Hm0O

Position BM3 series motors
E 4——HEECC/R
Position  displacement

0——100
1—160
2——200
3—250
4——315
5——400

ME 5—ik=fikn
Position ~ Flange and pilot
A—A4FLAFEZ, 1EO ¢ 100 x 5mm
4 bolt flange , pilot ¢ 100 x 5mm
fIE 6 M
Position  shaft
0—— ¢ 25H4H, FHE8x7x28
$ 25 shaft, flat key 8 x7x28
1—— ¢ 30E 5, F#8x7x28
¢ 30 shaft, flatkey 8 x7x28
22— H6-30x 26 x 8
Splined shaft 6-30x 26 x 8
33— HEH6-30x26x 6
Splined shaft 6-30x26 x 8
A——4E T $EEH6-25 x 22 x 6
Splined shaft 6-25x22x6

Position  oil port
A—M22x 1.5

B——M18x 1.5

fLE 8 itimO
Position  drain port
0—x
1—M14x1.5
2——G1/4

e 9 BIREE
Position  paint color
A—B LR
B—iF3tE%E black
C—IE% blue
E—4a% red
F—ARBHR  no paint
fIE 10 #EMm
Postion rotation direction
A—iRitE

standard
B——&

opposite

W B E R E LA R A 33

Shandong Rnomac Hydraulic Machinery Co.,Ltd

eNg



®
LLI M a7 t Shandong Rnomac Hydraulic
n“nm fﬂﬂi’:‘uﬁE*ﬂW Machinerngo.,Ltd Y

BM4 &7l
Series

LT R

- REGEHRER TR, RAESOR MR
M.

- RRAR I, REEAMMEAEE

- WRMMEEET, REEES, THUEFRER.
- ERSEHESE. HETH.

- SMO. W, R SEERR.

efficiency.

or in series.

Characteristic features:

- It adapts the gerolor design, which has a higher distribution accuracy and Mechanical

- Double-rolling bearing design, which has a greater lateral load capacity.

- Credible design of shaft seal, which can bear higher pressure and be used in parallel

- Direction of shaft rotation and speed can be controlled easily and smoothly.

- A variety of connection types of flange, output shaft and oil port.

FEMESH
Main Specification

1 RATEENENORKESH, BEENBIEEE,

2O AR ERKENFESEETFIE,
BEMETIESMT, BITHREESHARFEIT10%,

4 HETF FAGSHIAEE R B, #5E37-73cSt,iEiEEISO18/13,

5.5 = L1EHIR80TC,

6.Dx & A TIERT, NERD LIEENNA0% L FES 1/,
7.0 AT RS EEIOMPa, BRIYAEBIISMPa, BTkt
E[\51:9i:: K =8

-

w N

. Intermittent means the entrance of the maximum pressure; continuous working

pressure means the differential pressure.
Motor should not work under the highest pressure and the maximum speed.
The running time should not exceed 10% under intermittent working conditions.

. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness

1ISO18/13.

5. The Maximum working teMPerature is 80°C.

6. One hour running time under 40% of maximum working pressure is

~

recommended before full capacity working.

. The maximum allowable back pressure is 10MPa, but the recommended back

pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

34 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BM4 &% DA EEES #L [ESTIER  FIE TR
Performance Data
Bm4-245 245mil/r Bm4-310 310ml/r
EH AP (MPa) EH AP (MPa)
| 35 ‘ 7 ‘ 9 ‘ 12 ‘ 14 ‘ 17.5‘ 20 | | 35 ‘ 75 ‘ 10 ‘13.5 ‘ 15 ‘17.5 ‘ 20 |
|| 122 | 122 | 318 | 401 || 154 | 325
3|| 19 | 9 | 18 | 15 5| 6 | i3
sol| 129 | 120 | 334 | 426 | 456 | 596 soll 162 | 343 | 455 | s57
37 | a7 | B4 | 32 | 31 | 27 0| 28 | 26 | 20 | 16
sol| 127 | 127 | 332 | 430 | 454 | 594 | 693 ool| 168 | 350 | 468 | 582 | 620 | 738 | 808
" 77 | 77 | 76 | 74 | 66 | B4 | 44 " 62 | 61 | 55 | 48 | 41 | 3 | 20
JIL [— OIL [
£ a0l 124 | 124 | 328 | 426 | 455 | 59 | 695 8 ||| 166 | 345 | 472 | 581 | 630 | 742 | 8283
115 | 175 | 112 | o6 | 97 | 86 | 76 %0|| 93 | o0 | 83 | 77 | 68 | 62 | 48
2 laoll 114 | 112 | 322 | 421 | 458 | 602 | 690 2 laol| 185 | 338 | 463 | 576 | 627 | 738 | 825
2 158 | 158 | 156 | 152 | 142 | 128 | 115 2 128 | 126 | 120 | 112 | 100 | 90 | 75
T lso|| 108 | 108 | 316 | 412 | 451 | 598 | es8 T lso|| 142 | 326 | 456 | 569 | 623 | 729 | 824
2 |%0|| 196 | 196 | 193 | 186 | 175 | 162 | 147 2 [%°|| 159 | 156 | 150 | 142 | 125 | 116 | 99
T leoll 96 | 96 | 305 | 403 | 448 | 896 | 678 T leoll 121 | 312 | 440 | 556 | 645 | 714 | 813
o3 | 232 | 227 | 218 | 208 | 192 | 180 186 | 186 | 180 | 170 | 155 | 142 | 125
2ol 8 | 83 | 200 | 392 | 443 | 582 | 669 2ol| 105 | 300 | 426 | 540 | 632 | 704 | 802
275 | 275 | 274 | 268 | 254 | 237 | 221 70| 223 | 222 | 216 | 206 | 189 | 178 | 160
|| 75 | 75 | 282 | ss2 | a3s | 573 | 661 5|l 96 | 289 | 420 | 530 | 624 | 698 | 795
290 | 290 | 288 | 280 | 266 | 252 | 236 237 | 234 | 225 | 215 | 198 | 186 | 168
eoll 70 | 70 | 275 | 370 | 436 | s68 | 650 gol| 84 | 278 | 408 | 519 | 612 | 689 | 785
303 | 303 | 297 | 291 | 280 | 264 | 248 80|| 245 | 244 | 236 | 228 | 212 | 198 | 176
% 180 | 258 | 355 | 430 | 552 | 634 ool| 63 | 258 | 388 | 496 | 593 | ee8 | 760
%] 348 | 346 | 340 | 325 | 308 | 203 || 282 | 280 | 275 | 266 | 248 | 234 | 209
R E(N-m)430
- FEE(pm):325
Bm4-395 395ml/r Bm4-500 500ml/r
EH AP (MPa) EAH AP (MPa)
35 ‘ 6 ‘ 10.5 ‘ 12,5 ‘ 15 ‘ 19 | 25 ‘ 5 ‘ 85 ‘ 10 ‘ 12,5 ’ 16 |
5|| 196 | 349 | si8 5|| 164 | 318 | 517
5 2 11 10 NI 9 8
ol| 205 | ss2 | s45 | 701 | 804 wol| 178 | 335 | s56 | es9 | 790 | 968
23 2 21 18 12 19 18 17 16 14 10
ool| 208 | 365 | s42 | 707 | 812 | 985 ool 178 | 330 | s60 | 672 | 798 | 986
- 49 48 26 41 37 33 - 42 42 41 38 36 30
JIL [ JIL [
= 202 | 356 | 541 | 706 | 806 | 984 = 173 | 320 | 552 | 661 | 792 | 981
=301 T3 72 70 64 56 52 =130l &3 63 61 58 54 48
Dlwoll 196 | 345 | s30 | 702 | so2 | e72 Dlwoll 162 | 310 | 542 | 654 | 782 | 72
2 99 98 96 87 78 75 2 85 85 83 79 75 68
Tlso|| 174 | 332 | 519 | 687 | 796 | @57 Tlso|| 146 | 208 | 524 | 635 | 769 | 955
2150 124 | 122 | 118 | 107 98 9 2|50/ 103 | 102 | 102 98 94 86

60 155 320 500 668 792 945 60 122 276 503 615 746 933
147 144 142 130 116 107 124 123 123 118 113 104
70 138 305 480 647 790 923 70 98 256 482 598 728 918
174 173 170 155 142 130 147 147 147 142 136 124
75 132 295 467 634 788 912 75 80 241 470 583 715 901
183 182 178 165 150 138 156 155 155 152 144 132
80 114 278 452 622 772 895 80 62 223 456 572 700 882
193 192 188 175 158 146 166 166 166 158 153 141

ool 92 | 255 | 436 | 596 | 752 | 882 ool 368 | 202 | 422 | 550 | 672 | 870
220 | 220 | 215 | 203 | 185 | 166 i76 | 175 | 172 | 166 | 160 | 158

W EEENMARAT 35

Shandong Rnomac Hydraulic Machinery Co.,Ltd

vINg



mmm\% i [ E AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM4

Bm4-625  625ml/r
EH AP (MPa)
35 | 5 | 7 | 85 |05 | 14
5|| 250 | 380 | 510 | 640 | 755
7 7 6 5 4
jol| 260 | 395 | 535 | 670 | 795 | 1060
15 14 13 12 10 8
ool| 275 | 425 | 570 | 710 | 850 | 1065
30 30 28 27 25 22
i |sol| 295 | 450 | 605 | 755 | 925 | 1270
27| 4 44 44 43 42 37
- lao|| 297 | 480 | 610 | 765 | 920 | 1330
2™ 60 59 58 56 55 52
Zlsoll 285 | 445 | eos | 760 | 915 | 1325
ol i | S 75 75 73 70 67
Eleo|| 285 | 440 | 595 | 755 | 915 | 1325
93 92 91 90 88 84
70|| 280 | 430 | 585 | 745 | 905 | 1320
"I 106 | 105 | 105 | 102 | 100 95
75|l 275 | 415 | 575 | 735 | 895 | 1315
116 | 115 | 114 | 113 | 112 106
gol| 240 | 400 | 560 | 720 | 880 | 1300
V1| 124 | 128 | 122 | 121 119 114
ool| 225 | 380 | 540 | 700 | 855 | 1250
142 | 141 139 | 138 | 137 | 131

FAPBIRTE(E FSH#IEREM, 50C MEFKE TN, FTRDXERBHEES,

N ER R

OEETEX &) TEX
Bm4-800 800ml/r
E5 AP (MPa)
35 ‘ 5 ‘ 7 ‘ 85 ‘10.5 ‘ 13 |
|| 420 | s90 | 775 | os8
MG 6 5 4
woll 420 | 594 | 790 | 972 | 1176 | 1407
NIIRE 12 11 10 9 7
sol| 435 | eos | 840 | 1020 | 1204 | 1428
54 23 23 29 50 17
so|| 420 | 596 | 830 | 1005 | 1204 | 1412
30| 36 35 35 34 33 29
sll 300 | 595 | 796 | e75 | 1190 | 1410
48 47 47 46 45 43
sol| 380 | s45 | 780 | ee0 | 1176
50| 60 59 58 56 54
coll 360 | 525 | 785 | ea5 | 1172
74 73 71 70 69
2oll 340 | s15 | 750 | e32 | 1163
70| ‘a4 83 82 80 77
|| 325 | s10 | 732 | et0 | 1140
92 91 89 88 87
gol| 815 | 475 | 722 | 8es | 1126
80| ‘o6 96 95 93 91
9% 460 | 700 | 860
106 | 104 | 102

All the data was tested at 50 C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

36 www.rnomac-h.c

om




mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BM4 ZRFIEER T

L 145
745 78 IO "411%15 115
20 2-M22X1.5 %
— [ &20
6 i = (2} (9\
j 2125393
T
drr o8 T ey
D & Al Al
/ \ f &
H 4-313 075 2
JHAB
Port A Port B
120
FRAEHET) : o127 e e
T [5) 46 50, AT 5B O [ BT, DikIfeTAEss. 0.03 o7 Wy
@1 00—0.08 /’/ \s
1IEO=6 7 A\ ]
H B[ 245 [ 310 | 390 | 500 | 630 | 800 -\ ) \ I
H (mm | 273 | 345| 45 | 544 | 69 | 90 % \ 108
L (mm) |202.2 |207.8 | 2151 | 223.9 | 234.9 | 249.7 N
4-13 %
70
BM4 ZRFaHiEER T
Hih 025 FHE8 HiMo32 F810
>\°° CL:E ( )\\9 ogo
\ N NS
2 5 \ - 35(45) | \ i
45 M8;A&20 46.5 (56.5) M10;%20
48 495 (59.5)
EHh 040 T4 12 55T £ 426D-030X26X6
N A ss| 53
AN ~— o © o
NE \S | 8
50 ’ 45 ‘
613 M123%20 61.3 M8:%20
64.3 64.3
5B T HE6D-B42X36XT 5B 1L 426D-D30X26X8
8| 3 | \S !
5 ) 35
61.3 M12:20 44 W14iR20
64.3 47

WS 5 E LA RAF 37

Shandong Rnomac Hydraulic Machinery Co. Ltd

vINg



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁﬂﬂ&*ﬂﬁ Machinerngo.,Ltd Y

BM4

BM4 FH DA ZEHER

. ‘ 7/8-14UNF-2B O-ring M14X1. 5-6H
/|

Port 9/16-18UNF-2B O-ring G1/4
G112(BSP) 50135
452
Poﬂ%
(©
8 0 kJ © o 9 o
% & <t :' g 8 ~
S |
(@®) H 8 2
kj u 4
Port A
- $147.6 /C
53 8 L ]
9 L1 32
OiktRHERE
T X e i, ASE CTEE ., D& ImET & hedE
HE owecsrent| 245 310 390 500 630 | 800 Standard Direction of The Motor Rotation:
Lmm | 217 | 273 | 346 | 434 | 544 | 692 CW----When A Port pressurized, Viewed From the
Li(mm) | 158 165 177 185 200 221 Shaft End.
BM4 £ DA R T ERER T
116
REE= 44 19
31.75 S

$38.08
nr
5

ﬁ nl
i
o 1.1/8-18UNEF

110

REE=
38 19
254

(]

|
|

$31.75
5
120UNEF

HEREL:8

38 www.rnomac-h.com



mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BM4 &A= Dk E R~

M14X1. 5-6H
Case Drain Gjlc/ 4 2250
_L-MB-gH 10202 My,
>: ~
3¢ ———— O Jan Ch
2 QY §
ts) P~ N -
o 8 0B s
N N
= “lo @)N O/ Port B -~
B :
T~ 1A H
6 4040.2 fPort A =
46.4 L
g 65
DA FRAEREE) :
g1 s | as T s | e | e TR A, AMICIHE, DIANARTEHER .
Isplacement . . .
Lom | 217 | 273 | 346 | 234 | 544 | 692 Standard Direction of The Motor Rotation:
Lymm) | 180 | 187 | 197 | 207 | 218 | 233 CW----When A Port pressurized, Viewed From the
Shaft End.
60
57
T 10x8x45
Parrallel 1 »g. 36 38 19
s | e | s
‘ | g o = L
&3 @ 2 z
| | 'S - 2 g
120 | = -
57 ‘
HERE1:8
42 7.96x7.96x31.75 T4 7.96x7.96x31.75
Parrallel 7 3)&16 Parrallel 8_%)'016
_5 | 31.75 5 2.0
‘ \éouggq (')_7 ‘ Eog Og
&= © °3 &3 © 3
| ik ° | 2 3 3
.20_| 120_|
57 R1.3+0.08 48.5
54

WS iE A E LA RAF 39

Shandong Rnomac Hydraulic Machinery Co.,Ltd

vINg



®
LLI M 7 . Shandong Rnomac Hydraulic
“““m iﬂﬂﬁ:ﬁE’l‘ﬂ.W Machinerngo.,Ltd Y

BM4

BM4 il E DIk RS
BM4BIZIRED ik R—ME AN AURNIBR DL, SRS, MatE, ARRHREDENRE, £L50E
KEgEmER, SANMNEHTE. RESCRESHAGHBERERYDE. EATELNMNEH RGNS

&, FE. g, mE%,

0 2-M22x1.5 120
' 4-913i@
o © ! .
N A = 3 & -
U @ng s N
$100
6 1~ ®moAlaos N )
PortA Pport B RN 8127 107
20 5 45 L | imsessr
L1
iARAERER:
HE oween| 245 | 310 | 390 | 500 | 630 | 800 E X5 ddddin, AEOEEH, DkIRET RS .
L(mm) | 21.7 | 27.3 | 34.6 | 434 | 544 | 692 Standard Direction of The Motor Rotation:
Li(mm) | 300 | 306 | 313 | 321.5 | 3325 | 3475 CW----When A Port pressurized, Viewed From the
Shaft End.
OiAMRE .
ORI BN ER /N A880N.m, BEHIE RS H2.0MPa,
=Yg

1. MEREWER: D, FHES. FHPRFTE;

2, RN, EER., REFR: QESHNERE—MEK, dRB/N. EERE, FHFEE, NEEMTRE;
3. MEHFGK: EREFRFGRK. EEREKEMHEH, MNERYIMETAR, SRTHEEERYT;
4, BRER: RASHEAGZ, MNEIRERBTHT, TEREES, EREHTNERNE;

5. MEMES: ERFRABLEGRME, AMKRSHEER, BEREEALAE,

40 www.rnomac-h.com



mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BM4 [E]5 X IR Lk i E Bk

Blo
AT e _BA
o 412 225|225
\ 13/13
625 _[] \ d < f — 60
10 43 O o 4310
12 ¥ r? 12
© i [
% a— N l(fli me = Vs N g
I —|
(=]
| “‘] ~ J: | ~ i |
b-wﬁ
6|20 2-M18X1/5-6H L |20 |6
L1
B[] 4-913
o < 9
2125
"/ H =] 310 | 630
L (mm) 25 51
115
L1 (mm) | 337.5 | 389.5
145
Bg]
Ar‘ﬂ ———
- 2-M22X1.5-6H
5] a I
5 = e 43 10
Q ( \ Port B ‘l ’Q
[
o (=)
3 L€> &§J (:_) 3
63
6/20 L
75 45 2046
L1
4-913
4-913 Ale) [
o o S
¢125 — B 245 2125
L (mm) | 27.3
/ L1 (mm) | 3285
115 115
145 145

WHRHEBRENRBRAE 41

Shandong Rnomac Hydraulic Machinery Co.,Ltd

vINg



®
LLI M a7 t Shandong Rnomac Hydraulic
n“nm Eﬁ'ﬁlﬁlﬁ&*}l*ﬁk Machinerngo.,Ltd yaradt

BM4 iTE&RE2

42 www.rnomac-h.com




rmmmmmmmlLow Speed High Torque Orbital
Hydraulic Motor R KX HFEIRLE K E DA

BM4 Ordering Information

W AR AT 43

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd




®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁlﬁl&*ﬂﬁ Machinerngo.,Ltd Y

BM4

B SR S-BMARTTiA

1 2 S 4 6 7
B M 4
fiIE 123—BM4RF|GE g 7—mHm0O
Position ~ BM4 series motors Position  oil port
fiE 4—H=CC/R A—M22x 1.5
Postion  displacement fE 8 itiHA
0——245 Postion  drain port
1—=310 0—=*k
2——390 1—M14x1.5
3——500 2—G1/4
4——630 NE 9 BRER
5——800 Position  paint color

E S5——k=fmiEn
Position ~ Flange and pilot
A—A4F120 x 1205 FiE=, 1O ¢ 100 x 6mm

4 bolt flange , pilot ¢ 100 x 6mm
B——47L145x 1455 #i%=, 1EO ¢ 125x6mm

4 bolt flange , pilot ¢ 125 x 6mm
fIE 6 M
Position  shaft
0— ¢ 25EH, FHB8x7x32

$ 25 shaft, flat key 8 x7x 32
1—— ¢ 32E %5, FH#E10x8x%x35

$ 32 shaft, flat key 10x8x 35
2—— ¢ 32EH, FH#E10x8x45

¢ 32 shaft, flat key 10x 8 x 45
3—— ¢ 40EH, FEH12x10x50

¢ 40 shaft, flat key 12 x 10 x50
A——SERLTE 842 x 36 x 7

Splined shaft 8-42x 36 x7
5——4E T #E5H6-30 x 26 x 6

Splined shaft 6-30x26x6
6—— MR TE#EH6-30x 26 x 8

Splined shaft 6-30x26x8

44 www.rnomac-h.com

A—TREL R
B—iF3Ei%F black
C—HE% blue
E—4a% red

F—ABiZE  no paint
fE 10 #Em
Position  rotation direction
A FRAE

standard
B— ki

opposite




mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BM5 &%
Series
A AL ST Characteristic features:
BM5 ik B—MimEEC R Dik. HEW4Fa: - BM5 motor is a disc valve type gerolor motor.
- SeRVIRE LRI T, (RIRE TR, - Advanced design in disc distribution flow, which can provide iMProved performance at
- RHRAREFNRT, EAREEEE. low speed.

- Advanced design of shaft seal, which can bear higher pressure.
- Advanced distribution mechanism design, which has the automatic coMPensation

- SEHMECHRIARTT BRERBmIMETRE.

- WEIEHER T AL BB R ZRAR BT, Cnction.

F SMEZ WHEEFRRERLR. - Double-rolling bearing design, which permit higher radial loads.
- A variety of connection types of flange, output shaft and oil port.

FTEMESYH

Main Specification
HEE (ml/r) Displacement 80 100 125 160 195 245 305 395 500
- BAES Cont. 75 75 75 75 75 75 75 75 75
(LPM)Flow izgs  Int.. 85 95 95 115 115 115 115 130 130
. B AELE Cont. 850 675 552 430 345 287 231 178 142
(RPM)Speed iz |nt.. 956 855 700 660 529 423 347 308 246
EH = AELE Cont. 17.5 17.5 17.5 17.5 17.5 17.5 15 15 12
(MPa)Pressure gz nt., 28 28 28 25 25 25 21 17.5 15
oy BAES Cont. 178 223 278 356 445 557 580 715 720
(N*m)Torque g Int.. 285 356 445 509 636 755 763 640 860

-

. Intermittent means the entrance of the maximum pressure; continuous working
pressure means the differential pressure.

Motor should not work under the highest pressure and the maximum speed.
The running time should not exceed 10% under intermittent working conditions.
. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness.
1SO18/13.

The Maximum working teMPerature is 80 “C,

| BRENENOBKES, ERTEENETHEES.
2 D AREFMERBENRABE T IR,
BEMBETIERHT, BITHEEGSHAEERBIE10%,

4 ETF FAGSHINEE R EiM, #hE37-73cSt, EiLEISO18/13,
5.5 = LIEHMIR80C,

6. DA S LAERT, RES S LIEEHHI40% L TES1h, One hour running time under 40% of maximum working pressure is

7.9k R FRKEEIOMPa, EBfEFEREETSMPa, Byt recommended before full capacity working.
. 7. The maximum allowable back pressure is 10MPa, but the recommended back
EOMNHRE

pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

PN

o o

WS EEENHARAT 45

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd

SINg



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} fﬁ'ﬁlﬁl’fﬂﬁﬂl.m Machinerngo.,Ltd Y

BM5

BM5 Z 5| Ok EEES £ OESTER N IER
Performance Data
Bm5-80 80ml/r Bm5-100 100ml/r
EH AP (MPa) E5 AP (MPa)
|3.5‘7‘10‘14‘17‘20.5‘24‘28| |3.5‘7‘10‘14‘17‘20.5‘24‘28
al| 35 | 75 | 103 | 125 | 176 | 208 | 220 | 245 4|l 45 | 89 | 130 | 175 | 208 | 246
|| 46 | 42 |38 | 35 | 30 | 23 | 14 | 2 41 33 | 35 | 30 | 24 | 96 | “6
35 | 75 | 105 | 152 | 180 | 216 | 236 | 257 8|l 46 | 90 | 135 | 180 | 215 | 251 | 278
8] 97 | 90 | 86 | 83 | 78 | 69 | 60 | 49 ("l 75 | 72 | 68 | 55 | 53 | 88 | 80
35 | 75 | 105 | 150 | 186 | 217 | 249 | 265 16)| 46 | 33 | 142 | 183 | 220 ECSNNESERES
o |"6|| 195 | 187 | 182 | 178 | 170 | 162 | 148 | 132 o {152 1150 1 146 | 140 | 128 L TH2 L 99 | 82
i T 04| 46 | 93 | 140 | 188 | 231 | 270 | 305 | 356
£ o4l 35 | 75 | 105 | 152 | 188 | 222 | 256 | 289 = 230 | 295 | 218 | 212 | 501 | 776 | 172 | 180
584 | 280 | 270 | 283 | 258 | 245 | 232 | 210 —
- wla2l| 42 | 93 | 142 | 186 | 233 | 278 | 310 | 372
Dol 35 | 75 103 | 155 | 190 | 230 | 265 T |%2)| af5 | 310 | 300 | 290 | 575 | 240 | 238 | 225
= ||| 368 | 380 | 371 | 360 | 359 | 345 | 328 = l4s|| 40 | 90 | 141 | 190 | 228 | 285 | 340 | 389
= |4s|| 30 | 70 101 | 149 | 186 | 228 | 262 = [*°]] 440 | 455 42 | 470 400 {368 | 369 | 540
= 538 | 535 | 530 | 518 | 510 | 482 | 470 = |61|| 35 90 | 138 | 185 | 230 | 290 | 330
= = 590 | 582 | 570 | 560 | 538 | 510 | 490
coll 30 [ 70 | 97 | 147 | 183 | 229 -
720 | 716 | 710 | 679 | 670 | 635 sl 35 | 85 | 136 | 178 | 228 | 280 | 315
L 75|| 725 | 716 | 702 | 678 | 660 | 641 | 623
75| &y | &% | o | st | ams | 88l 32 | 80 180 | 176 | 225 | 275
| || 899 | 878 | 860 | 856 [RESEENREON 85|| 820 | 815 | 805 | 702 | 778 | 759
22 | 60 | 90 | 140
85| 956 | 948 | 926 | 905 || &b | e | 957 | 887
H4E(N-m):140
#£3% (rpm):905
Bm5-125 125ml/r Bm5-160 160ml/r
EA AP (MPa) EA AP (MPa)
|3.5‘7‘10‘14‘17‘21‘24‘28| |3.5‘7‘10‘14‘17‘21‘24|
(41l 55 [ 115 | 172 | 221 | 280 | 325 | 360 1 65 | 131 | 191 | 260 | 318 | 384 | 428
4l 28 | 25 | 2f |97 |94 | 0 | "4 4l 23 | 20 | 19 | 93 | Y9 | 8" | 2
57 | 115 | 172 | 221 | 285 | 326 | 362 | 412 70 | 135 | 196 | 265 | 335 | 404 | 460
8| 81 | 58 | 52 |46 | 42 | 40 | BT | 25 8|| 47 | 45 | 42 | 3 | ¥ | 34 | 28
56 | 116 | 174 | 235 | 295 | 345 | 379 | 446 70 | 140 | 208 | 286 | 360 | 440 | 502
'6|| 24 | 126 | 116 | 770 | 708 | 99’ | 93 | 83 6]l 98 | 95 | 91 | B5 | 83 | 78 | 50
-y 32
Uit 58 118 | 180 | 238 | 302 | 352 | 402 | 486 Uit 74 145 216 293 372 450 521
£ |?*|| 185 | 183 | 176 | 766 | 154 | 149 | 140 | 126 g (™| 145 | 142 | 39 | 728 | 725 | {6 | 107
55 | 120 | 180 | 240 | 312 | 361 | 408 | 508 74 | 150 | 220 | 300 | 373 | 459
T |%2)| 246 | 220 | 235 | 230 | 225 | 218 | 210 | 200 T |®|| fos | 106 | 11 | s0 | 162 | {75
= 50 | 115 | 175 | 236 | 310 | 360 | 406 | 502 = 70 | 150 | 221 | 305 | 380 | 458
= |45|| 356 | 340 | 338 | 530 | 321 | 311 | 298 | 286 = |®|| 282 | 279 | 276 | 265 | 254 | 240
U U
45 | 113 | 173 | 240 | 300 | 360 | 420 | 470 65 | 145 | 210 | 800 | 375 | 455
Z|61)] 460 | 455 | 450 | 248 | 445 | 440 | 458 | 436 E (8| 370 | 368 | 365 | 362 | 360 | 355
42 | 110 | 170 | 230 | 200 | 345 | 410 60 | 135 | 205 | 300
75|| 560 | 558 | 555 | 552 | 550 | 548 | 545 75|| 459 | 456 | 453 | 451
105 | 160 | 230 | 300 | 355 130 | 200
85] 640 | 635 | 630 | 628 | 638 8] 578 | 516
90 | 155 | 220 | 285 128 | 200
% 727 | 738 | 753 | 738 % 578 | 575
120

46 www.rnomac-h.com



BM5

CIET TAEX

OESETEX

250ml/r
(MPa)

Hydraulic Motor {REXHAIEIRLIRE DIk

mmmmLow Speed High Torque Orbital

|3.5‘7‘10‘14‘17‘21‘24|

Bm5-250
EAX AP

24

21

17

14

200ml/r
(MPa)
10

7

3.5

EAX AP

Bm5-200

e |9
© | Qo
R | Ro
©g, | Oy | ©0
o | S
N2 o | oo
oY | o™ [ K+ ~ Qv 8| 82 | 8
— || | | N oY
w_ | o |oa|ow oo —
&r |BR |2 |88 BR
A W | 1g | Oy | Qo | Vo | LN
x || 8o |82 | B5| 83| 8R 82
0_ | Oq |0 |w oo oo (o e
AN | B | ©% | K- [N | E® | © | N —
SN 0| 99 | - [ | A | SN | S0
- © | O | No | Oy |94 | O [ais [ o | i
£ _|2||8 |5~ 28| B0 BN (B2 5 (B2 (ES
Qi | O | N | ©= | ©© | oY | ©© (1o | oW E ~|7 A A
AR | o5 | % | o | O~ | B0 | 00 [ QIS | I S ©
™ ™ (<) M | O | OA | A | O | DD S o
=
M S -SSP e
— =
o ey %5185 |80 |58 |88 |28 20 |80 188 87|87 59 80 3% 30 |87 |57 |68 |84
o A° | Qi | Q- | QA | QO | 0 | e | —F o o
o d
< W | 96| 90 | Qo | O | O™ | 00 | 00 | s+ |0 | O
O | @ 0y |02 09 v | o8 |02 |1 o _ 2R | 82| 33 | 58| 52 | o | b | OB | b | T | N®
S-S o |t | R | oy, |68 | oY | NS | oL O RO+ |+ | =0 20| 20 | 20 | =¥ | v+ | ~N |~ |~
E o
© o ©
a8 (e(zlr[8[8 2| [~[o[ef[a[8[2 z[rRr[8[8]2]
e e
#=IH Flow (LPM) #IH  Flow (LPM)
o oo | oo
™ o o_ |0 | oy
N & | N — | =X | O
0w © | or Y o | o | Rw
] oo | 38 | 3D
N 0 | O | X ~ 8- Qw o 8o | Cw | ]S
o O oY KO | KNP |~
oM | 00 | 0o | VO | 0o —
| %8| 32 |SHIESICRISE
- | 5=
O |06 | 0g |96 [0~ | om | oo | oo
T |80 87 83| 88|55 |82 |BE |8
— | lo—
TN ow | o | ow [ |or | oo | e
QN @O | ND | N | KO [ RO | @O |0m —
1) M | O | ON | N [0 | O | oS
- olle |o |90 On|®o | wa 0w |0 | | oo
£ _|2||8 8| 3e| S 8B 82 G2 ISHI 881 8T
Wy | ©p | 0M | O |0 | —m | 0O |Oal | ©O |wust E ~ M A A
I | 0RO | KB | O | N0 | O |©Or | O | OO 5 ©
QA% [ Q™ | Q- | N | Q| QA | e | S| QI | QIO 8 o
=
N B2 R[22 S0 |88 | 3T | 28 | 82 | Bk | BS | Ko
29|00 | 82 | 83| 8Y 83|22 |83 (B2l ER SRS SRS R Sk e
P i A e R S A= R PR = i T o o
=
0 | Y] e | Oa | O | O | ON | O | O | <0 | (G | 1n©
O 0| 9| | 16N | o | oN | <0 i | Do | Qou | O~ N |10
O oY | wl |08 o N | R | N SN | SO | I | Qo | =% O |80 [KRo
om or |0l | ol | 0] | NG oY | o MW m ..*J.. S e e e e D Bl Rl Rt R e N R B oo}
s} m s}
MIEIEIREEIEIEEEE v e/ |[8[®[clr|8[8]2]

K208 Flow (LPM) K208 Flow (LPM)

47

LWERRERENWARLA

Shandong Rnomac Hydraulic Machinery Co.,Ltd

All the data was tested at 50 C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

RAPBIRTE(E FCSH#IEREM, 50T MEFKE TN, FTRDELERBEES,



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁﬂﬂ&*ﬂﬁ Machinerngo.,Ltd Y

BM5

BM5 RFUIMNELIEIZER T

48. 58 K

21

X
g
2
H
¢Szl L
i D
OB
Port B
BM5 SE=iFEERT
1EM282.550% 4-913.5
6.4 1EO@80503 2-013.503
013.5047  IFO@100 |
57.5
o127
, . 120X120
\F (082,550 1EM@82.5535 21064 1F 028255308 £106.4

56.4

2-713.570

[T064] /
130 130 130
- HE 80 100 | 125 | 160 195 245 | 305 395 | 490
Displacement
H om) 145 | 18 | 225 | 29 | 355 | 445 | 555 | 72 | 865
) 179.5 | 183 | 187.5 | 194 | 200.5 | 209.5 | 220.5 | 237 | 251.5

48 www.rnomac-h.com



mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BMS FR %4 iIEER T

B TEH26D-025.3X21.3X6.25

7 32

45
48

1/4-20UNC

5B 6D-025X21.5X6

26

45
48

M8:%x20

40

60
63

33

12/ 28 F 145 E R 01. 25

f

3/8-16UNC

12/ 28 FF %A 14w ERD1. 25

45
48

! \ 3/8-16UNC

1.25E T 427. 96

BT 426D-030X26X6 @25 E T8 D32EHFH10
32(40) s 4
45(40
] | F— (40) 5
WB320
48(52 p
- ;5) 36(41) \ M8F20 56(50) \ WBiE20
(55) 39(44) 59(53)
B4 1 526D-30X26X6 @25 A #HT426. 35 D30E #4528
50
28 4 28 4
— | [——t
_ _ AN =1
[Te] [ee] — — o o
N N ™ lap]
N83F20 S \®
63.5(66.5) 36 36 \ WBiR20
66.5(69.5) 39
39
Eftf 1€ #26D-030X26X6 B 1L 1§26D-030X26X8 @R0EHHT 410
732 73 45 5
f———
- - S| w5
[s2) [sp)
\_‘L \®
N850 —] — = - —
4 48 e 5% N
48 I 5

3175 5
4| E==
S| o8
_ _ 0| 2s
- I3}
[se)
] \&
45 \ M8F20
48
D22 E 5T 526
40 8
— e
p— I 1
_ _ os| W
8| 3
] 58 \ M8iF20
61

WHRHEBRENHARALE 49

Shandong Rnomac Hydraulic Machinery Co.,Ltd

SINg



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁl1ﬂ}£$nm Machinerngo.,Ltd Y

BM5

BM5 RFIMOEZER~T

#M2-M22X1.5

A M14X1.5 ShC2-1/2NPTF
iHA2-M18X1.5 kG 1/4
/ sl M14X1.5 /;‘%DZ-GHZ;‘EHEI
st O 14X1.5 '\r//// i1 F12-M22X1.5
ﬁﬁz/ ~ ﬁiﬁ” o [#HOM14X1 5
N _ i S giﬂnMnM5
@fim @ 6??% #HOG1/4
\\ D% \ 8% S#HE2-M18X1.5
— — AOM14X15
S 12-7/8-14UNF# 0
18 20 Sttt [17/16-20UNF
475 46.6
2-M22x1.5;80 Ma2-213
2-G1/2;m 0 M OM14X1.5
1o SOG4 3840.1 S8 1 7/16-20UNF [0
LW (VA &
5 ' G
ol S W -
T B | *°| & - =T 9
Pain <~ A N S| 8
g Y |
— 3-M10 & @
22 11.5+0.1 §
46.58 20+0.15
MO2-M22X1.5 46402
38.120.1 4|51ﬂ5ﬁ3l:||\/|14x’|-5 y ~
2-733.2 €9 i?
ol = w19 @ N%
fy .:%§ - -+3| |
- /_\ —i F ®
@ &() u?,' © ‘@3’ \§>
3-M10 et 3 & oy
Y = 8-M10
S 74 o
2 HR16
11.5+0.1 N 800.1
20+0.15

50 www.rnomac-h.com



mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BM5 ZE4 DA R FIEIER T

G1/2" N
M22x15-6H  GHE A P147.6

M20X1.5-6H Port A
¢ A

95
3127008

7/8-18UNF

\C /gé

46 MO B
Port B
— |
&
23 e
N : &2
2645F. /
5 L1
HF% Displacement 80 100 | 125 | 160 | 200 | 245 | 305 | 395
L (mm) [14.5| 18 |22.5|28.8| 37 |44.6| 55 | 72
L1(mm) | 125|130 [ 136 | 141|143 [ 152 | 164 | 180

BM5 ZE4E D1k R 51ie i R ~T

SERLTESE 6D-30x26x6

Rectangle Spline
20,

I_ OOD
I— S
7l 32
415

FER LG 6D-25x26x6
Rectangle Spline

I__W 17 ]
= <2
N
an 8
7. 28
40
ik @931.75

Tapered Shaft 5

—

0
= N
J S 8
- 3
48 (%)
Tapered | +0.4
9-0,3
57

T St
\_M'ED e 4-0135
Drain Port T G1/4

O A bR ERE) :
T XTH s, AROEEHE, DiRIREE R .
Standard Direction of The Motor Rotation:
CW----When A Port pressurized, Viewed From
the Shaft End.

4 8x7x32

Parrallel

1 -5

050

17
40

g8 10x8x45

Parrallel
5 45 -5

20,

@32-8‘025

56

SR 7.96x7.96x31.75

Parrallel
.75

/8-16UNG cn
($i31.750 05

45

L 25 58 5 R AL BB IR A A 51

Shandong Rnomac Hydraulic Machinery Co. Ltd

SINg



RNOMAC

®

I ia R AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM5

BM5 FeihE DiARS [ ERRT

21042 SR (Depth) 16 40 Port A
7 [ —
& & — %
""
‘ S P — 0 © 0| 0
> I ol B M O
N~ QN @ (3 \ D ©| g~ ©
(elfe)] \‘. \\;1 ~— ASS ASSIRSS
X 4-M10
% . /
’ i H
& & ==t=
92 B 27.5
Port B
7
9 L1
HF% Displacement 80 100 125 160 200 245 305 &ﬁ%i&ﬁl\?ﬁﬁ%}%&
L mm) |14.4]17.8(22.5]28.8|35.1/44.6| 56 fﬁ”z ;02
=
L4 mm) | 130 [133.5| 138 |144.5[150.5| 160 [171.5 pmp— 12,24
REXD | HmRs
RE%E 5
HEEE | 925 4
AEEEZ | $21.997
EREEE | ¢26.80 )
Ok kR e - BREER 922 240,15
TSI . . RIEEE R | Max 923,52
Eiﬁiﬁjﬂj Emimuﬁﬁ ) A;EH Dﬁ;m ) Elt“lﬁi HTJ‘%‘I-BE$§° ﬁ]ﬁm aXR03
Standard Direction of The Motor Rotation: prepm Ral6
CW----When A Port pressurized, Viewed From the Shaft WiEEE | 62794
End. FMEEELE | 29.3. o
HEREE | 4.0

SHOA 2-M22x1.5-6H

52 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

BMS JoimA DA RS I EERT

. G1/2"
MO B | m22x1.5-6H
Port B| M20x1.5-6H
M18X1.5-6H -16. 42

NEY U -
< -
“f-ﬁ o) T ?[
. -
AOA ? ~L
Port A
2215 L
L1 ]
I INE RS
HEE oipacerment| 80 | 100 | 125 | 160 | 200 | 245 | 305 | 395 | 500 H B 120
| (mm) |145]| 18 |22.5|28.8| 37 |446| 55 | 72 | 86 iﬁi 125’24
L1(mm) |130[133|137 | 140 | 145 | 155 | 165 | 180 | 198 P R
&R 5
BHERER @254
HEERERRE 321.997
EWEERE | 02687,
N — WIREER | 922.2+0.15
OiAfRERE : e Ral.6
T X H AmEds, ASEROIHEER, DAIRETEhEss. fﬂf-ﬁﬁ 22.794
. . . S ERNEE .
Standard Direction of The Motor Rotation: = 4.0

CW----When A Port pressurized, Viewed From

the Shaft End.
41.5min 44
7 7 235.20%
o o 429 — B
E S = N 1% 7
% 5 L= |
o .
<
[ep!
0
92841.02505 STMA SR ERFERIRT
@34.8+0.02

SINg



®

RNOMAC

I ia R AL

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM5

BM5 [El4%i%EDIARY

X 65
20110
O e
g |
SOG4 o
Y
a0 A #wO2-G172 R
/Port A J i t
N 1265 u
Lj:. = \ g |
Y Wz A
o -
A -
O B . 5
PortB 4-913.5 JE7L 1'7_§
4-922.3 AL
OiEMESE
. . DR BN5-160 BI5-195 BM5-245
Hin B RS HE 160m1/r 195miir 245ml /r
m mAEER 80r/min
BE 4 BitiEiE 308NM (12. 3MPa) 304NM (9. 8MPa) 305NM (7. 8MPa)
Ehfs 20° X 183 190 199
g 11 Y 136 143 152
ME%E%R 5
RaRy EMNES Ok FRAE R :
THAY 0.4 E Xt ek, AROZHE, DiXIREEES.
wRRAER $55.2.0 1, Standard Direction of The Motor Rotation:
e 3.9 CW----When A Port pressurized, Viewed From the
EEBE HRC58-64 Shaft End.
RGN 19. 4220922
B 2
RRGENE 0.14
WEGRENE 0.056
BE—REENE 0. 045

54 www.rnomac-h.com



mmLow Speed High Torque Orbital

BM5 1JR1E 2

Hydraulic Motor {REXHAIEIRLIRE DIk

FERASAE HEB/HS
RZ 440 1 % mE 80 100 125 160 195 245 305 395 500
PrLiE= M22X1.5;
109X109;1E 0 | $ 25X36 P8 M8|  ittilid | 151-0111 | 151-0112 | 151-0113 | 151-0114 | 151-0115 | 151-0116 | 151-0117 | 151-0118 | 151-0119
$82.55 M14X1.5
M22X1.5;
¢32>'fn5§s P10 im0 | 151-0121 | 151-0122 | 151-0123 | 151-0124 | 151-0125 | 151-0126 | 151-0127 | 151-0128 | 151-0129
WILER R, M14X1.5
1IFM $82.55 ]
G1/2;5Mttt A
$ 25X36 P8 M8 e 151-0141 | 151-0142 | 151-0143 | 151-0144 | 151-0145 | 151-0146 | 151-0147 | 151-0148 | 151-0149
melik= Gl/2:5Mtt 0
109X109;1E 0 | $ 25X36 P8 M8 a1/4 151-0191 | 151-0192 | 151-0193 | 151-0194 | 151-0195 | 151-0196 | 151-0197 | 151-0198 | 151-0199
$ 85
A= $32X56 P10 | G1/2;4hitt O
109X109;1F 0 ’ 151-0241 | 151-0242 | 151-0243 | 151-0244 | 151-0245 | 151-0246 | 151-0247 | 151-0248 | 151-0249
M8 G1/4 ¥M10
$82.55
MALEREZE; | ¢ 32X56 P10 | G1/2;5htt O
I 682,55 M8 G1/4 S M1 | 15170301 151-0802 | 151-0303 | 151-0304 | 151-0305 | 151-0306 | 151-0307 | 151-0308 | 151-0309
7Lk M22X1.5;
109X109;1E 0 | $ 25X36 P8 M8|  ittslid | 151-0421 | 151-0422 | 151-0423 | 151-0424 | 151-0425 | 151-0426 | 151-0427 | 151-0428 | 151-0429
$ 80 M14X1.5
PFL ik $32X56 P10 M22X1.5;
109X109;1k 0 M8 O | 151-0441 | 151-0442 | 151-0443 | 151-0444 | 151-0445 | 151-0446 | 151-0447 | 151-0448 | 151-0449
$82.55 M14X1.5
PrLiE= Gi/2:
109X109; | ¢ 25X36 P8 M8| ,, ., : 151-0511 | 151-0512 | 151-0513 | 151-0514 | 151-0515 | 151-0516 | 151-0517 | 151-0518 | 151-0519
Hhitt OG1/4
1IFM $82.55
. M22X1.5;
BFLEME=; | $32X56 P10 im0 | 151-0611 | 151-0612 | 151-0613 | 151-0614 | 151-0615 | 151-0616 | 151-0617 | 151-0618 | 151-0619
1IFO $82.55 M8
M14X1.5
" Mz@égﬁ 151-1071 | 1561-1072 | 151-1073 | 1511074 | 151-1075 | 151-1076 | 151-1077 | 151-1078 | 151-1079
MILEREZ;
' | 6D-30X26X6
1EM $82.55 M8 M22X1.5;
tim O | 151-1101 | 15611102 | 151-1103 | 151-1104 | 151-1105 | 151-1106 | 151-1107 | 151-1108 | 151-1109
M14X1.5
45 M22X1.5;
e 6D-30X26X6 im0 | 151-1281 | 151-1282 | 151-1283 | 151-1284 | 151-1285 | 151-1286 | 151-1287 | 151-1288 | 151-1289
Myl k= M8 M14X1.5
109X109;1E 0 oy
$82.55 ; ;
Hi T AL R Sttt 1G1/4 | 151-2031 | 151-2032 | 151-2033 | 151-2034 | 151-2035 | 151-2036 | 151-2037 | 151-2038 | 151-2039
1445 m=2
SM10
AIEZ, 1| o sox05xs *ﬁiﬁ@% 152-1021 | 152-1022 | 152-1023 | 152-1024 | 152-1025 | 152-1026 | 152-1027 | 152-1028 | 152-1029
O ¢ 100 12504
AL 45 M22X1.5;
22 = | 6D-30X26X6 him O | 154-1031 | 154-1032 | 154-1033 | 154-1034 | 154-1035 | 154-1036 | 154-1037 | 154-1038 | 154-1039
1IEM ¢ 82.55
M8 M14X1.5
mrLiE= 45 M22X1.5;
109X109;1E [ | 6D-30X26X6 il O | 154-1041 | 154-1042 | 154-1043 | 154-1044 | 154-1045 | 154-1046 | 154-1047 | 154-1048 | 154-1049
$82.55 M8 M14X1.5
osemen. 45 .,
J“ﬁfs—s'_”:n 6D-25X21.5X6 *)i,‘:z‘%ﬁ% 158-1011 | 1568-1012 | 158-1013 | 158-1014 | 158-1015 | 158-1016 | 158-1017 | 158-1018 | 158-1019
g M8 ;

W EEENARAT 55

Shandong Rnomac Hydraulic Machinery Co.,Ltd

SNg



®

4

RNOMACIQ, Tii% 7 [ HL4%;

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM5

BM5 Ordering Information

Feature Displacement/No
Flange Shaft Oil port 80 100 125 160 195 245 305 395 500
Square flange: P
100x109; | $20X36 P8 M22X1.5Drain | 4oy 141 | 1500112 | 1510113 | 151-0114 | 151-0115 | 1510116 | 151-0117 | 1510118 | 151-0119
Tt o M8 Port:M14X1.5
gfgﬁg '\l’liftxl\}lf&:ag‘ 1510121 | 1510122 | 151-0123 | 151-0124 | 1510125 | 151-0126 | 151-0127 | 151-0128 | 151-0129
Rhomb flange; ] '
Pllot: ¢ 82.55 $25X36 P8| G1/2;Drai
surain
Ve oG | 1570141 | 161:0142 | 1510143 | 151-0144 | 1610145 | 1510146 | 151-0147 | 1510148 | 151-0149
Square flange: |, »5y35pg|  G1/2:Drain
109X109; " oG | 1610191 [ 151:0192 | 151-0193 | 151-0194 | 151-0195 | 151-0196 | 151-0197 | 151-0198 | 1510199
Pilot: ¢ 85 . e
Square flange P
:109X109: (e GU/2Drain | 451 1941 | 1510242 | 1510043 | 151-0244 | 1510245 | 151-0246 | 151-0247 | 151-0248 | 151-0249
Piot 98285 | P10M8 |PortG1/4 M10
R;}%Tigzngg; gfgﬁg Poﬁ-g;/gr;cno 151-0301 | 151-0302 | 151-0303 | 151-0304 | 151-0305 | 151-0306 | 151-0307 | 151-0308 | 151-0309
Square flange: o
109X109; ¢25X26 4 Mzz)_“'f"D:a'” 151-0421 | 151-0422 | 151-0423 | 1510424 | 151-0425 | 1510426 | 151-0427 | 151-0428 | 151-0429
Pilok 686 M Port:M14X1.5
Square flange: o
109X109; gfg);ﬁsse '\422)_(“1/"154)'3(?'” 151-0441 | 151-0442 | 151-0443 | 1510444 | 151-0445 | 1510446 | 151-0447 | 151-0448 | 1510449
Pilot: ¢ 82.55 CIi =
Square flange: I
109X109; 4’25,\);‘36% %L’ijgm‘ 161-0511 | 1510512 | 151-0513 | 151-0514 | 1510515 | 151-0516 | 151-0517 | 151-0518 | 151-0519
Pilot: ¢ 82.55 :
Rgﬁ’;‘_t(’pggns%e; g’,fgﬁg '\giftxl\}ni?(:a:sn 151-0611 | 151-0612 | 151-0613 | 151-0614 | 151-0615 | 151-0616 | 151-0617 | 151-0618 | 151-0619
M22X1.5; | 1511071 | 1511072 | 151-1073 | 151-1074 | 1511075 | 151-1076 | 151-1077 | 151-1078 | 151-1079
Rhomb flange; 45 6D-
Piot: ¢ 82,65 (30X26X6 M8
Port-M'ﬁixqag] 151-1101 | 151-1102 | 151-1103 | 151-1104 | 151-1105 | 151-1106 | 151-1107 | 151-1108 | 151-1109
s ) 30)?256?(%',\/'8 '\llil’iftxl\}l154§|;al5n 1511281 | 151-1282 | 151-1283 | 151-1284 | 151-1285 | 151-1286 | 151-1287 | 151-1288 | 151-1289
quare tflange: - .
109X109;
Pilot: $ 82.55 | gpline:14 G1/2;Drain
ez |PortGi/a shiqo| 1512031 | 1512032 | 1512033 | 1512034 | 1512035 | 1512036 | 512037 | 1512038 | 1512039
Square flange: Plate-
Piot o100 |6D-30X25XB| T 0™ oe04| 1521021 | 162:1022 | 1621028 | 1521024 | 1521025 | 162-1026 | 521027 | 1521028 | 162-1029
Rhomb flange: 45 6D- M22X1.5;Drain
Piot 62 85 |30x26x6 M8| PortM1axts | 1941031 | 1541032 | 1541033 | 1541034 | 154-1035 | 154-1036 | 154-1037 | 164-1038 | 154-1039
Square flange: | 45 6h | M22X1.5;Drain
Pi}gts_aﬁggés 20Xo6x6 M8l ParMiaxta. | 1541041 | 1641042 | 154-1043 | 154-1044 | 154-1045 | 154-1046 | 164-1047 | 154-1048 | 154-1049
| 456D-
Square flange: | 55y51 5x6 Fleis 158-1011 | 158-1012 | 158-1013 | 158-1014 | 158-1015 | 158-1016 | 158-1017 | 158-1018 | 158-1019
Pilot: ¢ 85; M8 connection:;M10

56 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

S /S-BM5RF| Tk

Hydraulic Motor {REXHAIEIRLIRE DIk

1 2 3

B M 5

fiiZE 123 —BM5EIDE
Position BM5 series motors
fIE 4—H=ECCR

Position  displacement

1—=80

2—100
3—125
4—160
5——195
6——245
7—2305
8——395
9——490

ME 5S5—F=fEn
Position ~ Flange and pilot
A—27LF&ERE=, 1EO $70x6.4mm
2 bolt flange , pilot ¢ 70 x 6.4mm
B—27L&®iE=, 1IEH ¢ 80x6.4mm
2 bolt flange , pilot ¢ 80 x 6.4mm
C—27L&ERiE=, L0 $82.55x6.4mm
2 bolt flange , pilot ¢ 82.55 x 6.4mm
D—27LEHw%E=, 1E0 ¢ 100 x 6.4mm
2 bolt flange , pilot ¢ 100 x 6.4mm
E—47l %=, 1EH ¢ 80x6.4mm
4 bolt flange , pilot ¢ 80 x 6.4mm
F—4FLAFEZ, 1EO ¢ 82.55 x 6.4mm
4 bolt flange , pilot ¢ 82.55 x 6.4mm
G—A4fLAFEZ, IEO ¢ 85x6.4mm
4 bolt flange , pilot ¢ 85 x 6.4mm
H—a4fLA#iE=, 1EO ¢ 100 x 7.5mm
4 bolt flange , pilot $ 100 x 7.5mm
I—4FLERE=, L0 ¢ 82.55x6.4mm
4 bolt flange , pilot ¢ 82.55 x 6.4mm
J—AFKARZEZ, 1EO ¢ 85%x6.4mm
4 bolt flange , pilot ¢ 85 x 6.4mm
K—47LAR%EZ, 1EO ¢ 107 x 6.4mm
4 bolt flange , pilot ¢ 107 x 6.4mm
L—6FLE&ERiE=, 1O $82.55x%x6.4mm
6 bolt flange , pilot ¢ 82.55 x 6.4mm
fIE 6 i
Position  shaft
0— ¢ 25EHH, FH8x7x28
¢ 25 shaft, flatkey 8 x7x28

1— ¢ 22FH 5, F4#7.96%x7.96% 32

¢ 22 shaft, flat key 7.96 x 7.96 x 32
2— ¢ 25HH, FH8x7x28

¢ 25 shaft, flatkey 8 x7x28
3— ¢ 30E4, F#E8x7x28

¢ 30 shaft, flatkey 8 x7x28
4—— ¢ 30E 5, F#E10x8x45

¢ 30 shaft, flat key 10x 8 x 45
5—— ¢ 32EH, FH10x8x40

¢ 32 shaft, flat key 10x 8 x40
6—— ¢ 32E4H, F#10x8x45

¢ 32 shaft, flatkey 10 x 8 x 45
7— ¢ 25.4H%H, F$6.35x6.3x28

¢ 25.4 shaft, flat key 6.35x6.3x28
8—— BT $EEH6-30 x 26 X 6

Splined shaft 6-30x 26 x 6
O—— BT $EEH6-30 x 26 x 8

Splined shaft 6-30x26 x 8
10— FF & FE 8 5h 12/24DP 1415

Splined shaft 12/24DP 14 tooth
g 7—m0
Position oil port
A—G1/2 B——M22x 1.5
C——1/2NPTF D——2G1/2
E—M18x1.5 F——M20x 1.5
G—7/8-14UNFH——¢ 13
[——M27 x 2 J—=G3/4

E 8 ittimO

Position  drain port

0—*x 1—M14x 1.5
2—G1/4 3——7/16-20UNF
4—2G1/4

g 9 BIREE

A—TL %

B T EZF black
C—E&& blue
E—4O% red

F—ARBH%E  no paint
fIE 10 #Em
Position rotation direction
A—tRifE

standard
B—&Ia

opposite

WS EEENARAT 57

Shandong Rnomac Hydraulic Machinery Co.,Ltd

SINg



®
LLI M 7 . Shandong Rnomac Hydraulic
n“““‘“’% fﬂﬁ‘»ﬁ:ﬁl&’lﬂm Machinerngo.,Ltd Y

BM6

BM6 %75
Series
SR Characteristic features:
BM6G i 2—finEE R DL, HEMS: BM6 motor is a disc valve type gerolor motor.
- SEBR S EE R (KR TERE, - Advanced design in disc distribution flow, which can provide iMProved performance at
- ST, RAREEEE low .
v — speet . .
i on o = P - Advanced design of shaft seal, which can bear higher pressure.
- REIEHERT AR B RZERANER T, - Advanced distribution mechanism design, which has the automatic coMPensation
- SRR, BHMERREEER, function.

- Double-rolling bearing design, which permit higher radial loads.
- A variety of connection types of flange, output shaft and oil port.

FEMESH
Main Specification

HE & (ml/r) Displacement 195 245 310 390 490 625 800 985
B BAES Cont. 150 150 150 150 150 150 150 150
(LPM)Flow i int.. 170 210 225 225 225 225 225 225
i BAEZ Cont. 776 615 484 385 308 242 186 155
(RPM)Speed g nt.. 865 836 699 572 453 354 275 230
i BAELS Cont. 20.5 20.5 20.5 20.5 17 14 12 12
(MPa)Pressure gz |nt.. 31 31 31 31 275 17 14 14
s BAES Cont. 572 733 928 1156 20 1331 1378 1565
(N'm)Torque gz |nt.. 852 1176 1356 1633 1878 1368 1645 1877
1.BEAXTEEHENORKRES, EETEEHIETIEEZ, 1. Intermittent means the entrance of the maximum pressure; continuous working

pressure means the differential pressure.
. Motor should not work under the highest pressure and the maximum speed.
The running time should not exceed 10% under intermittent working conditions.

2. B R R ER B ENMRREET I,
SEMETEENT, BSTHESSHAEBIE10%,
A eSHIERE, FEAE37-73cSt, EIEEFISO18/13 4. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness

w N

1ISO18/13.
5.5 5 LIEHIES0TC, 5. The Maximum working teMPerature is 80°C.
6.DiRTEH A TIERT, MESRS LIEENR40% U TESh, 6. One hour running time under 40% of maximum working pressure is
7. R B SEE10MPa, BRIAERE5MPa, TRt recommended before full capacity working.
7. The maximum allowable back pressure is 10MPa, but the recommended back
EIMEHE pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

58 www.rnomac-h.com



Hydraulic Motor {REXHAIEIRLIRE DIk

mmmmLow Speed High Torque Orbital

BM6

59

LWERRERENWARLA

Shandong Rnomac Hydraulic Machinery Co.,Ltd

X = |80 | B | 20| B 3
@ ® |80 omn| o | T o ||oT
ﬂ - = -
O || ®a | Ve | O | 00 | O | 00 | 00 wIlIE. 82
: o | Beo T [ | O | oo
1= N | O | VO | ©© | B | N | ON L0
= R ||| 8T | 32| 3= | B& | o | B & [[27] 0| o~
© o [~ [
oo [on| x| Mo | —o | Y | ow | o | o~ Lo
|| 0RO | I | S0 | 10N | ©F | WD | D | T | DO IR 5T 3L | S~
1] o ™ | RO [\ Qlr— | O | 0 | ™)
s N | DO | O | O | O | GON | 00 | 0 | O | OO S0 | EOvr || G2e9|| Gak
o I I
O || g | = | == | o | o | ¥ | W | val | 0o | ox | w© OB BN | 8o | o | o | 7w | Lo
ﬂ S || IR | o% | N | HO | o0 | OO | M0 | AN | ~0 | S | 0O S |85 9% 98| Lai| Lo | Lo | O | Yo
B Q ||V | RO | e | KA | KAl | Koo | Koo | N | NTF | KO | 00 QIISN|IZC | ® |- |- | TqQ| =& | =
E | |
0 Nl O | IS [ = | S| @ | 10| o | 0o | oo [ o | o Do | D | By | 0= | OF | @O | o | nr= | 20
SN 98 Q| =N I | =0 |~ | OF | O | O | NS | 1O+ NN | O | ©F | ©0 | NN | O | O | S0 [ O
— || BY | B9 & | oA | ©N | ©® | ©m | OF | O | OO | OO | O~ — || oN| 3P| &P o | o | N | Ol | BN | Ko
S I | S |
= < ||| o | o | oo | o | i | o | o | oF | @ O | = | o = < || Q| O | 0S| 00| 0= | @0 | o | 0 | Mo
g — ©R | ~O | 0O | O | 0® | OF | VO | KO | ON | 0% | FO | SO | DO E | Y ||IY| O | KO | KT | Ko | O | ©n | WD | O
-| <~ S I NG Nt
5 % ST - [ 9 | SA | SFA | IO | IF | I | I | S0 | SO | N | S0 5 % NP KO | K | N | N | R | N | K| Koo
< ()]
A =S| 0 ||og|s0|ow| ool | o | qo| o S| 0o | o |©o | % O =| 0 ||og|o-| 00|00 0| ot | 00| oo | 0w
SIS |ID o | N | ©n | 0o | Y | - | IR | 00 | AS | AN | == | =N S|S0 | MK | 0O | 0 | @0 | KAl | ©F | 0 | S0
S || DO | O | BN | O | M | O | DI | O | OO | DO | N | 0960 C | [w0®| BN | o | O | O | LA | 1ON | 1OA | WO
0 o Mo | O [ 100 | ©O | et | =r= | v | O | O | ko | auey | 0w | =t 0 o 05 | D | 9 | @O | 0@ | o | 0w | 0® | Kx
Q <|~||88| 8| & 83| %8| BR| N7 =8| <3| RE|R8 20| 28 8 <|™||58| 8 & 88 32 BR8] 83| 38
Al — (ep] I
| |
©o| oo oal| | WO | FW| NO | _D| 0O | N | R O | Q| 0| 2| M| Mo | o | g | v
© | % OF| ~d| ~o| | OO | 0¥ | oA | 52 | YB | F= | 8o © R % oy | 02| o | @ | O™ | NI | ©© | ©O | s
m EJ_\/ — | | A )| O | < < T} © © m E — — | || | A | ~®O | ~"
m — m —
= = = =
(e[8[e[a[r[s[8[&8[8[B[R[8] §]| [e[8[e[z/r[5/8[a[8] 0B8]
2 2
I Flow (LPM) #IH Flow (LPM)
O | 00 | o— o |wv |o
15} Ny | O | Do
5 RE| Q| g & ||| qie | o~
- |~ |
O || S | Xy | =0 | OF | 20 | o0 | 0O | @O Se 8| 5l 25 e | S
~ |02 O | Y | O | OD | KRG | NN | ©D M S| 5 | 5| 89 | 8=
A |97 [ RO [ N | R | N | N | NS | RS NIE =2 S| 8= | Mo
R | N\
Doy | ©Oo | 0 [ F© | +10 | 20 | 0 | cO | st | O /[ T | 9¢ | Loy | Bo | R | Rau| Lo | o | Qo
S9N A | 0o | ©® [ NS | ©© | OF | v | ©© | ©N = @ |0t o | 3R ST | 5o | B | By | SN | 8@
O | ©9 | Or | O | ©OD | ©M | O | OO | O | ©© 28| O || 29O [ OF | Cal | Cai | 20 | 2o
,),, -
0 || | 0o | o | Fo | F | wal | oW | O | VO | &0 P ZE - || =< | Om| 20| o | o | 20 | 0w | o | cim o
S ||NeF- g2 58 58 BT |5y B3| 83188 £ QoS IRB|lor | aw| S | AT | A0 | =t | =@ D
N — | 1O | 0N | 10O | O | IO | 100 | 16O | OO ") AN | o€ | & | o | OX | OA | O | OO | O™ oL
S %uﬂ I
Yo | IO | 0| | ow | o | T | ow| v | O~ | —o| Y| Nen | 9O | I | qwo | O | 00 | ot | @© I~
N oY o | RO | KX | DWW | RO | RO | RN | OF | ©r | ©O ™ || OR| ON | NS | e | RO | ©O | O | I© o0
— || 9| - | IV | TN | I | IF | IO | S0 | FO | I | S0 — [P | KN K| R | RO | RN | Ko | Red | Ned ©LH
= — — — 1
KM = Ol ot 0o | on| e | vn | oo | To| sm | oW = M| O~ | D | Lo | o | ¥ | 9O | O | oo Mo
E [T ||G8 NP N | RO | Q0| KO | Nr | OF | ©Q | ©M | Ol E | YIRS o -N| =~ | = | =N | O | 90 | o [
ﬁ@ 5 T T ||| o | o] &l 06| oF | @ | On | SO | O | 090 S T| 7 |97 0P o o on|oa| 60| 6n | o oo
KRG o L - L
i R P e e R o 22|y o o8| 0| byl el oy 3 B e [
~ ~ ~—
&umw S ||| e | N | N | e | NI | IO | N | I | IS | QNcd O ||FY| P I+ | I+ | I | FA | FO | 50 | < (1)
= . L~ |
&L 0 o g | 00| 00| oM | oo | T | O | DD | OF | SO | =t o o Ny | Oy | ©O | Al | 00 | Ol | Om | or | ©r Ly
(O] I~ NN oY | RO | N | N | Mo | 00 | O | ©n | On g~ || 22 S5 QF | on| 20 | 9© | D@ | ¥ | KN <00
ﬂq &) » S | N O | M| e | O | +O | O | —N | —0 m al M| O | O | AN | AN | A | N | AN [S\[¥e}
n ~ S E—
= | |
D 62| | 0| oN| D | | 60N | 0O | 1 O | O | O | oal| o+ | oo | o | 1y | oo o~
& 3 © R % LI 8w | B2 Lo x| 80| o | L= | Ro| 2| 8o © R % | IR I<| 0| 0% | B0 | BB | i | IB )
& e E M | P M@ | P | g | Mo | Mo | Mo | M| ©o E 1 A R R I R I R M R IR S o
N = o S m
o = —
0 & B (282 c[r[5[8/& 8[|
o= e[ @/s|r[5/8[&8[8]5]R] e8[elz R 5[8[S[8]0]8
a >
m o I Flow (LPM) #IH  Flow (LPM)



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} fﬁ'ﬁlﬁlﬁl&ﬂlm Machinerngo.,Ltd Y

BM6

OFESETEX  CETIEX

Bm6-490 490ml/r Bm6-625 625ml/r
EH AP (MPa) E# AP (MPa)
|3.5‘ 7 ‘10.5‘ 14 ‘ 17 ‘20.5‘ 24 ‘27.5| |3.5‘ 5 ‘ 7 ‘8.5 ‘10.5‘ 12 ‘14 ‘17 |
[45] 235 [ 486 | 725 | 962 [ 119514081648 5] 275 [ 425 [ 570 | 799 | 840 | 964 10631190
™ 235 | 486 | 734 | 973 | 121 1442 1680 | 205 | 450 | 604 | 754 | 923 | 10931267 | 1885
5| 235 | 485 | 733 | 974 1218 1480 5] 295 | 448 | 600 | 764 | 918 | 1123|1827 | 1875
z E 291189 | 138 | 913 'Rd | oD z E AR ARG AR S S
|| AR IR AR AN o || K9 12997 | 138 912 [P 7
= |ov)| 589 | 187 | 183 | 798 'Y = || 588138 | 98 | 7e8 | 988 | es eS| a0
2 piog|| 399 | 59 | 298 | 384 'A% = [roef| 788 | 448 | 32¢ | 724 | 888 | 1P R
21| 334 | 343 | 537 | 388 | '8 21| 783 | 183 | 388 | 147 | 988 |82
= EAEIE 1 = EEAEIE]
o 198 |45 080 B0 ® EIEIEAE
"I || o0 8 2
)| |95 | I
Bm6-800 800ml/r Bm6-985 985ml/r
EH AP (MPa) EA AP (MPa)
|3.5‘5‘7‘8.5‘10.5‘12‘14| |3.5‘5‘7‘8.5‘10.5‘12‘14|
[45] 434 [ 607 | 838 [ 1018 [ 1238 | 1377] 1646 5] 484 | 774 | o6 [ 1208 [ 1443 | 15671786
| 419 | 395 | 828 | 1903 | 1238 | 1412|1606 | 494 | 749 | opa | 1288 | 1477 | 1637|1871
5] 379 | 504 | 794 | 970 [1187 | 1358 5] 494 | 749 | 1000 | 1248 | 1492 | 1696
gg s30 | 519 | 758 | 937 |1167 gg 480 | 739 | 995 | 1243 | 1497
o ||| %0 | 48| e | sy |18 o 7| 475 | 780 | s | 1233 | nam
H BRI I £ ol e w1
= EIEIE]: 2 po 128 | o0 | a0 |REEDINAS
= EAEIE3 ol 58 |
ol 223 | 8 | 52 |08 o 520 | 98| 19 [
EEIEIEL I
o [ o %50 | 53 88
2 7 )| [35 188

RAPHIRTEE Aes#HEERIEM, 50C MBAGFTMIAN, FRBEERBEE,

All the data was tested at 50 “C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

60 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

BM6 #75i&E#ER~t

4-14.5
RERE -~/

Z

Hydraulic Motor {REXHAIEIRLIRE DIk

FRAERE -
H [ 461 HH 5, A

3, BiH M @MY,

ket & AERE .
#8 (eo/r)| H (m)| L (nm) | M (mm)
195 21.7 | 245.7( 230.7
245 27.3 | 251.3| 236.3
310 34.6 | 258.6|243.6
395 43.4 |267.4|252.4
490 54.4 |279.4|264.4
625 69.2 | 293.2|278.2
800 89 313 | 298
985 [108.8 | 332.8|317.8

KG

M= s kEeh

4000
3000

2000

1000

-50-25 0 25 50 75 100125150

PROEEH [

L] 10
M1X1.5 g sttrse 0 - 55

KG
4000
3000

-
I R --—-18
S
| 132
H| 245
M
.H‘ N
I_L/ __
OB /@ 2
PortB - -— —— 1| |1 _ NS D 0 O | O A
3
SHOA @ S
Port A E\ / —

2018

= g2 #se

2000
1000

/

-50-25 0 25 50 75 100125150

PR R

9Ng



®

A any7 = . Shand R Hyd li
RNOMAC) ERIEMRIENLIL Vachnery o Lo o T yaradie
BM6 Z 54 H HiERZER T
G40 R SRR
F4212 8D-42X36X7 6D-40X35X10
5 45(70,70) 78
S /___ el T g| g /"_'__'
M12 64(81.88) M8 43 M12 65
67(85,91) 65.5 75
69 78
ZA0E A WG 4L
Fg12 8D-42X36X7 6D-40X35X10
5 50(63)
¢l 1/ gl 8 g &)
M12 63.5(76) M12 40(38) M8 46(43,50)
66(79) 65.507) 56(50,57)
© 69(70) 63(67,79)
= 66(70,82)
oM
5. 5B TEER T2
18452, 5551 7E 71 /30° 8D-42X36X7 4210
5 36(45)
AT T J| g /“_‘_‘ B g g/“_‘_‘
M12 43 M12 50(60) M12 46(60)
64 91.5(133.5) 49(63)
67 95(137)
TR 50 B 4 5.
Z3512/2485 817 51 F30° T4 12 HE16EHMA30°
70
I
CAE | —
g 8| 8§
40.5(78) M12 79
60(97) 82
63(100)

62 www.rnomac-h.com




BM6 %31 O&# R~f

72.60.1
37.3

N
<
&
760.1
38
92
TNERA
L S
3
%
4-M12 & L 2-014
2.M24X15 24406, 305
2-M33X2
ol
i
S =
24408, 31405
2014 | 21
4-M12 NG

46.8+1

o
\ A

46.8+1
,.|==|=’
H—

Fan
A%

st ] G114
| %

72.6+0.1
37.3

2-M33X2

72.60.1

37.3

2-M27X1.5 | ¢

mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

N ~
Y R
3 3
M14X1.5
98.6
76+0.1 755401
38 56.5
37.5 145
e
)
» ; -~
—_Ne — o
2 o .
P P
- & 2014 2014
M14X1.5
2-G3/4"
2-G1" 24+0.6 3110.5 2-M22X1.5 2106, 31105
2-M22X1.5
2-M27X2 [[ /\ ﬂ /
NA N
S B A\ Ol ©
ol 2 ol o
&l 3 — a3 —1—
RRAS % =] ©
G1/4
2310.6 32£0.5 M14X1.5
2-G3/4" 25
4-M10
& -
. \@l 3
A o
= | T LY
o ‘_; \V)
g M fat
o
~ " oD
[l A\
)z
25 st (1] G 14

| X

WRHBEBRENHARLNET §3

Shandong Rnomac Hydraulic Machinery Co.,Ltd

9Ng



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁl1ﬂ}£$nm Machinerngo.,Ltd Y

BM6

BM6 F# DA RFIEZERT

7.87 22.3
| ﬁ e N\
MO B
W #184.15
—
4 bl \ 22
pSY
17| | \ 4-914.3
70.7 L
y 166
iR RAERE ) :
X dhahis, A O, Dkl
hEds . HEE owoomen| 195 | 245 | 310 | 395 | 490 | 625 | 800 | 985
Standard Direction of The Motor Rotation; L(mm) |21.7 | 27.3| 346 | 435 | 54.4 | 69.2 | 89 |[108.8
CW----When A Port pressurized, Viewed L1(mm) | 254 | 260 | 267 | 276 | 287 | 301 | 321 | 340
From the Shaft End.
i G40 HE 5
@44.425 T
Fa11438 T2
176 2
BhiE= 54 22 s M12
44.2 56
9 \
(= <
3 F o X _ ______/:si e
N ™) § g
3 = %4
s
\ . 63 5
HEFE1:8
L
. 6D-40X35X10
Z¥512/24%5 801 7E 1 £330°
66
63 63
60 56
40.5 M12 46 M8

|
¢38.‘I-81\
|
|
35047
3400048

64 www.rnomac-h.com




mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

BM6 JeiRk R 5 R T

M14X1.5 2162

G1/4 OB
Port B

3127

- sHOA [M33X2
. L _|  PortAl &t

_ S
FRERER: T

L
" . . . gl
EX BN, AQ#H, BORLAR, SikIuA e W
FHHEs% . g5 | 851
HRER @135. 86
HiEcch | 195 ] 245 | 310 | 390 | 490 | 625|800 | 985 EHEER ®38-4.+§b183
H(mm) | 217|273 | 346 | 434 | 544 | 69.2] 89 |108.38 cREER | 231 5+0;30
L(mm) | 188 | 194 | 201 | 210 | 231 246 | 261 | 276 wikEEE 40,02
EEER @4.572
BEE | 29906

BM6 5 ok Dk R KEE R T

92.4min @60+0.02
o § 4 R” T \ { t 1 T
V (50.340.

39.9

49.8:553

WHRHREBRENHARLE G5
Shandong Rnomac Hydraulic Machinery Co.,Ltd

9Ng



®

RNOMACIQN, Ii i 1a [ HL#

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM6

BM6 # 3k ED ik R 5

9400025

78
75

L1

tmOAG1/4

178

4-918 i@FLIN%H

3
$200 E
i
HF% Displacement L (mm) L1 (mm)
T ars T 12 SIAERES
' 1. BN DIAFERUE F1593MPa;
310 34.6 319 2. FEHE R 2
3% 43.5 328 3. DkEaAs IR /N F91990N. m.
490 54.4 339
625 69.2 353.5
800 89 373.5
985 108.8 393

66 www.rnomac-h.com



mmLow Speed High Torque Orbital

BM6 iT&R{EE

Hydraulic Motor {REXHAIEIRLIRE DIk

= mmiFE HEE /RS
E oy HH 3 195 245 310 395 490 625 800 985
INFEE; ¢ 40 HE: M33X2;
0 ¢ 127 P1ox63 | Shit M1axq 5| 16170021 | 161-0022 | 161-0023 | 161-0024 | 161-0025 | 161-0026 | 161-0027 | 161-0028
INFT IR 40 | ML GI/A;
¢ 125 proxas | SMNEOG1/4; | 161-0041 | 161-0042 | 161-0043 | 161-0044 | 161-0045 | 161-0046 | 161-0047 | 161-0048
AR E4-M10
AR, $50X79 |i@O: M33X2;
006 160 P14X70 | Shitt IM14x1 5| 161-0101| 161-0102 | 161-0103 | 161-0104 | 161-0105 | 161-0106 | 161-0107 | 161-0108
¢ 40 HO: M33X2;
s P1X50 | Shit IM14x1 5| 16170121 161-0122 | 161-0123 | 161-0124 | 161-0125 | 161-0126 | 161-0127 | 161-0128
=
ERe127 $ 40 M. M33X
j : M33X2;
Boyas shnGy/a | 161-0211| 161-0212 | 161-0213 | 161-0214 | 161-0215 | 161-0216 | 161-0217 | 161-0218
INFT 2L 640 H
D¢ 125 = e M24X1.5; 161-0261 | 161-0262 | 161-0263 | 161-0264 | 161-0265 | 161-0266 | 161-0267 | 161-0268
St EAM14X1.5
Y Wma: G1; 4p
A HEE; s0x79 | ™ :
_IJ:I:II¢160 $14X70 it OG1/4; 161-0301 | 161-0302 | 161-0303 | 161-0304 | 161-0305 | 161-0306 | 161-0307 | 161-0308
A HRZE4A-M12
¢ 40 Wma: G1; 4b
e #OG1a | 161-0341]161-0342 | 161-0343 | 161-0344 | 161-0345 | 161-0346 | 161-0347 | 161-0348
$38.1 MmO 1-5/16;
posxas | SMEEO7/16- | 161-0471 | 161-0472 | 161-0473 | 161-0474 | 161-0475 | 161-0476 | 161-0477 | 161-0478
INFEE ' 2=
1E0 ¢ 127 I
il : M33X2;
8D-42X36X7 |t o T \11axq. 5| 161-1021 | 161-1022 | 161-1023 | 161-1024 | 161-1025 | 161-1026 | 161-1027 | 161-1028
mO: M33X2;
8D-40X35X10 | 4 o - M1axy 5| 161-1031 | 161-1032 | 161-1033 | 161-1034 | 161-1035 | 161-1036 | 161-1037 | 161-1038
RIEZ; | on_4ox3sx10 ﬁg Rl
006160 —-40X35 MtOG1/4; | 161-1041 | 161-1042 | 161-1043 | 161-1044 | 161-1045 | 161-1046 | 161-1047 | 161-1048
AR ZE4-M12
INFEZ; MO: ©14;
016 127 8D-42X36X7 |40 vsey (11| 1611051 | 161-1052 | 161-1053 | 161-1054 | 161-1055 | 161-1056 | 161-1057 | 161-1058
KFEZ; WA M33X2;
1 ¢ 160 6D-40X35X10 | ™y Sy miaqj | 161-1061 | 1611062 | 161-1063 | 161-1064 | 161-1065 | 161-1066 | 161-1067 | 161-1068
INFEE; HE: M33X2;
06127 6D-40X35X10 | 4 o T \yaxy 5| 161-1161 | 161-1162 | 161-1163 | 161-1164 | 161-1165 | 1611166 | 161-1167 | 161-1168
il : M33X2;
6D-40X35X10 ﬁ%DMﬁixw 161-1171 | 161-1172 | 161-1173 | 161-1174 | 161-1175 | 161-1176 | 161-1177 | 161-1178
KA : '
1EA ¢ 160 BT 2 @
BT '9I~‘Hi'|:|G1}4 161-2201 | 161-2202 | 161-2203 | 161-2204 | 161-2205 | 161-2206 | 161-2207 | 161-2208
m=2.5 !
INFEZ; B LIERE |imO: M33X2;
L0157 | #16Em=s | SNEOIMI4X1.5 161-2501 | 161-2502 | 161-2503 | 161-2504 | 161-2505 | 161-2506 | 161-2507 | 161-2508

WS EEENAERAT 7

Shandong Rnomac Hydraulic Machinery Co.,Ltd

9Nd



®

4

RNOMACIQ, Tii% 7 [ HL4%;

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

BM6

BM6 Ordering Information

Feature Displacement/No
Flange Shaft Oil port 195 245 310 395 490 625 800 985
S‘;‘;ﬂ?g‘?gge? 40 P12X63 Q"ﬁf\(ﬂz{zﬁ'g 161-0021 | 161-0022 | 161-0023 | 161-0024 | 161-0025 | 161-0026 | 161-0027 | 161-0028
G3/4;
e agos | 440 Praxas| DA OTCTE | 161.0041 | 161-0042 | 161-0043 | 161-0044 | 161-0045 | 161-0046 | 161-0047 | 161-0048
connection:4-M10
fIangSglijlzf¢160 gff))gg Q"fﬁf\(ﬂsz)ﬁ'g 161-0101 | 161-0102 | 161-0103 | 161-0104 | 161-0105 | 161-0106 | 161-0107 | 161-0108
40 P12X50 l'},"jjfﬁﬁfﬁ”; 161-0121 | 161-0122 | 161-0123 | 161-0124 | 161-0125 | 161-0126 | 161-0127 | 161-0128
Square : )
flange;Pilot: ¢ 127 M33X2-Drai
$40 P12xas| MIEAN | 161.0211 | 161-0212 | 161-0213 | 161-0214 | 161-0215 | 161-0216 | 1610217 | 161-0218
fIangjglijlzf¢125 40 P12X63 '\é',i‘:t)_(l\}l'f‘i?(;ag” 161-0261 | 161-0262 | 161-0263 | 161-0264 | 161-0265 | 161-0266 | 161-0267 | 161-0268
G1;Drain
f|ang§glij|§f¢1eo boUKTS | PO 11610301 | 161-0302 | 1610303 | 161-0304 | 161-0305 | 161-0306 | 161-0307 | 161-0308
connection:4-M12
G1;Drain
$40P12X63)  STDTAR1161-0341 | 161-0342 | 161-0343 | 161-0344 | 161-0345 | 161-0346 | 1610347 | 1610348
ng?{als Pokf;’;%_zg"b"w 161-0471 | 161-0472 | 161-0473 | 161-0474 | 161-0475 | 161-0476 | 161-0477 | 161-0478
Square i )
flange;Pilot: ¢ 127 .
M33X2;Drain
8D-42x36x7| SIOSNZDEN 14611021 | 161-1022 | 161-1023 | 161-1024 | 1611025 | 161-1026 | 161-1027 | 161-1028
40x%%-x1o 2403:?,\;21;5)2?"; 161-1031 | 161-1032 | 161-1033 | 161-1034 | 161-1035 | 161-1036 | 161-1037 | 161-1038
Square 6D- LDl
o e'gilot'¢160 k1o | PortG14Plate- | 161-1041 | 161-1042 | 161-1043 | 161-1044 | 161-1045 | 161-1046 | 161-1047 | 161-1048
g€ : connection:4-M12
fange ot p 127 | BD-42X36X7 ot 5| 161-1051 | 161-1052 | 1611053 | 161-1054 | 1611055 | 161-1056 | 161-1057 | 161-1058
fIangSg'}jIzﬁbwo 4ox63%_x1o Mgiﬁ?&?;i'” 161-1061 | 161-1062 | 161-1063 | 161-1064 | 161-1065 | 161-1066 | 161-1067 | 161-1068
ﬂangsgﬁifmﬂ 4ox63%-x1o 2"03',?),&21;5)2?"; 161-1161 | 161-1162 | 161-1163 | 161-1164 | 161-1165 | 161-1166 | 161-1167 | 161-1168
4ox63E5)5_x1o g"fﬁ’,éf{f;ﬁ"; 161-1171 | 161-1172 | 161-1173 | 161-1174 | 161-1175 | 161-1176 | 161-1177 | 161-1178
Square ) )
flange;Pilot: ¢ 160 Soline:17 G1:Drai
EA':;'S Po rtGrﬁ'/’; 161-2201 | 161-2202 | 161-2203 | 161-2204 | 161-2205 | 161-2206 | 161-2207 | 161-2208
tangomiots 127 | iea | Posaiiexis | 161-2501 |161-2502 | 161-2503 | 161-2504 | 161-2505 | 161-2506 | 161-2507 | 161-2508

68 www.rnomac-h.com




mmmmLow Speed High Torque Orbital

B S /S-BM6 R T 5ik

Hydraulic Motor {REXHAIEIRLIRE DIk

—

2

w

B M 6

fiE 123 —BM6RIIDE
Postion BM1 series motors
fI®E 4—HECC/R

Postion  displacement

1—195
2—245
3—310
4——395
5——490
6—625
7—=800
8——985

g b5——F=#1EN
Postion  Flange and pilot
A—A4FLARE=, 1EO ¢ 125 x 13mm

4 bolt flange , pilot ¢ 125 x 13mm
B—47LAREZ, 1O ¢ 127 x 13.2mm

4 bolt flange , pilot ¢ 127 x 13.2mm
C—A4fLAMEZ, 1EO ¢ 160 x 8mm

4 bolt flange , pilot ¢ 160 x 8mm
fIE 6 M
Postion  shaft
0—— ¢ 32E 4, F4#E10x8x36

$ 32 shaft, flat key 10 x8x 36
1—— ¢ 32E 5, FH#E10x8x%x45

¢ 32 shaft, flat key 10x 8 x 45
2— ¢ 40EH, FH#12x8x45

¢ 40 shaft, flat key 12 x 8 x 45
3— ¢ 40EH, F#E12x8x70

¢ 40 shaft, flat key 12x 8 x 70
4—— b 40E%H, FHE12x8x50

¢ 40 shaft, flat key 12 x 8 x 50
5—— ¢ 40EH, FH12x8x63

¢ 40 shaft, flat key 12 x 8 x 63
6—— ¢ 50E 4, F#E14x9x70

¢ 50 shaft, flat key 14 x 9 x 70
7T—5E R $EEH8-42 x 36 x 7

Splined shaft 6-25x22x6

8——EF 1L #4640 x 35 x 10
Splined shaft 6-40x35x 10

O—— i Fr &k e 5% 12/24DP 17

Splined shaft 12/24DP 17  tooth
10— FF L FE S Hh2. 51 4] 1715

Splined shaft 2.5 17 tooth
——#i FF LR TE B2 wE 1618

Splined shaft 2 16 tooth
fE 7—ihA
Postion oil port
A—G1 B——M22x 1.5
C—o¢ 14 D——2zG1/2

E—M18x1.5 F—M24 x1.5
G—1-5/16-12UNF H——¢ 16

[—M27 x 2 J—G3/4
K——M33 x 2 L—11/16
E 8 itiHA

Postion  drain port

0—*k

1—M14x1.5

2——G1/4

3——7/16-20UNF

4——R1/4

E 9 BZEH&
A—REL R

B—I#EF black
C—&% blue
E—ai% red
F—RBE%E  no paint
fIE 10 KM
Postion rotation direction
A—iiniE

standard
B——&[a

opposite

W EEENARAT GO

Shandong Rnomac Hydraulic Machinery Co.,Ltd

9Ng



®
""ﬂm P TR AL Shnons,Rgmee Hydrauic

Machinery Co.,Ltd

8K A%

Series

LT R

KA R — MR EECR D1k, HEMFS:

- EHEIREECRIRT, [REE TR

- SEHREENR, RREEEE.

- SEHMECHEIRTT, BAERBNIMEIRE.
- RN EHERF AR T REB AT AR E S,
C BMEE MBEEFRRERLN.

—_

BRATEENEANORKRES, EETHEENETEERE.

BT EEEREREE DR XEE T LE.

CEMETIEEMT, BITRESS S 8BIT10%.

OB EERIE M, #hEE37-73cSt, SEIEREIS018/13,

. Fm L{EHIR80C.

. DIREH AR LIER, NESSLIEEIRI40%LTES1h,
DA RS EEIOMPa, BRENAEBIMPa, BN
HINHHE .

~N o0 a0 AW N

Characteristic features:

8K motor is a disc valve type gerolor motor.

- Advanced design in disc distribution flow, which can provide iMProved performance at low speed.
- Advanced design of shaft seal, which can bear higher pressure.

- Advanced distribution mechanism design, which has the automatic coMPensation function.

- Double-rolling bearing design, which permit higher radial loads.

- A variety of connection types of flange, output shaft and oil port.

TEMESH
Main Specification

1. Intermittent means the entrance of the maximum pressure; continuous working
pressure means the differential pressure.

2. Motor should not work under the highest pressure and the maximum speed.

3. The running time should not exceed 10% under intermittent working

conditions.

4. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness
1ISO18/13.

5. The Maximum working teMPerature is 80 °C.

6. One hour running time under 40% of maximum working pressure is
recommended before full capacity working.

7. The maximum allowable back pressure is 10MPa, but the recommended back
pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

70 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

8K RFIBikttRESH

Performance Data

8K-310 310ml/r
E# AP (MPa)
| 35 | 7 | 10 | 14 | 18 | 20 | 24 |
1ol | 140 | 294 | 440 | 610 | 742 | 845 | 1000
26 | 24 | 23 | 22 | 20 | 17 | 14
oo || 153 | 314 | 466 | 635 | 787 | 895 | 1070
55 | 54 | 53 | 52 | 51 48 | 44
o | 50| | 149 | 311 | 465 | 654 | 815 | 935 | 4112
it 145 | 144 | 142 | 140 | 137 | 133 | 127
= |
175 || 143 | 304 | 458 | 641 | 816 | 940 | 1119
Z 220 | 218 | 215 | 211 | 207 | 202 | 195
o ||
= lyool | 136 | 297 | 452 | 636 | 810 | 936 | 1108
o 204 | 202 | 200 | 287 | 283 | 278 | 270
T lis|| 123 | 286 | 442 | 626 | 799 | @21 | 1093
368 | 366 | 364 | 361 | 357 | 352 | 345
150l | 114 | 276 | 435 | 615 | 788 | 906 | 1078
445 | 443 | 441 | 437 | 430 | 422 | 410
160l | 107 | 268 | 430 | 608 | 780 | 895 | 1070
475 | 473 | 470 | 466 | 460 | 452 | 439
ool | 82 | 249 | 412 | 593 | 758 | 871 | 1047
506 | 504 | 500 | 584 | 576 | 565 | 544
SN w412
5 rom 590
8K-500 500ml/r
E5 AP (MPa)
|35 | 7 [ 10 [ 14 | 18 | 20 | 24
0|l 242 | 468 | 696 | 959 | 1190 | 1353 | 1607
17 | 17 | 16 | 16 | 15 | 13 | 11
o0 || 245 | 503 | 738 | 1003 | 1233 | 1394 | 1688
39 | 35 | 85 | 34 | 33 | 32 | 29
g0 || 240 | 500 | 758 | 1025 | 1270 | 1449 | 1748
i 93 | 92 | of % | 88 | 85 | 80
=g | 283 | 408 | 754 | 1030 | 1288 | 1475 | 1766
- 120 | 139 | 137 | 135 | 132 | 127 | 120
2 l1ool | 228 | 491 | 748 | 1026 | 1289 | 1472 | 1760
= 189 | 187 | 785 | 182 | 178 | 173 | 166
2 |10s| | 220 | 483 | 742 | 1014 | 1280 | 1460 | 1745
= 237 | 236 | 234 | 231 | 227 | 223 | 216
150l | 201 | 465 | 725 | 1008 | 1250 | 1429 | 1736
287 | 286 | 284 | 281 | 276 | 270 | 261
175| | 182 | 446 | 711 | o7 | 1238 | 1406 | 1715
335 | 334 | 332 | 329 | 325 | 320 | 310
ool | 162 | 423 | 676 | 974 | 1218 | 1385 | 1697
384 | 383 | 381 | 378 | 374 | 366 | 354
a0l | 120 | 378 | 622 | 921 | 1172 | 1340 | 1650
461 | 459 | 457 | 454 | 450 | 444 | 432

(INdT) mold  finSs

(INdT) mold  feinSs

OFEETHERX

Hydraulic Motor {REXHAIEIRLIRE DIk

fB) b TAEX

8K-390 390ml/r
E5 AP (MPa)
|35 | 7 | 10 ] 14 | 18 | 20 | 24
|| 183 | 385 | 568 | 776 | 968 | 1101 | 1292
20 | 20 | 19 | 18 | 17 | 16 | 14
00| | 196 | 398 | 590 | 815 | 1010 | 1152 | 1346
44 | a4 | 43 | 42 | 40 | 39 | 87
g0 || 201 | 402 | 603 | 842 | 1040 | 1186 | 1430
114 | 113 | 113 | 112 | 110 | 108 | 103
5| | 195 | 394 | 595 | 838 | 1043 | 1188 | 1482
175 | 173 | 170 | 166 | 163 | 157 | 152
100l | 172 | 385 | 593 | 827 | 1036 | 1184 | 1425
236 | 235 | 233 | 231 | 227 | 223 | 215
ios|| 167 | 374 | 583 | 816 | 1021 | 1177 | 1418
206 | 294 | 291 | 288 | 282 | 275 | 268
150l | 158 | 361 | 559 | 801 | 1008 | 1165 | 1390
355 | 354 | 352 | 349 | 344 | 335 | 324
47| | 143 | 346 | 553 | 784 | 989 | 1145 | 1377
416 | 414 | 411 | 407 | 403 | 396 | 388
ool | 118 | 331 | 536 | 770 | 969 | 1128 | 1386
496 | 494 | 490 | 484 | 476 | 465 | 444
a0l | 82 | 301 | 508 | 740 | 943 | 1104 | 1332
574 | 571 | 568 | 551 | 542 | 533 | 523
8K-630 630ml/r
EH AP (MPa)
[85 | 6 | o [ 12 | 15 | 18 | 21
0|l 280 | 522 | 812 | 1100 | 1268 | 1549 | 1784
14 | i3 | 13 | 12 | 12 | 11 10
oo || 288 | 552 | 839 | 1101 | 1315 | 1607 | 1864
28 | 28 | 27 | 27 | 26 | 24 | 22
o || 289 | 555 | 868 | 1137 | 1364 | 1682 | 1956
72 | 72 | 71 69 | 68 | 66 | 62
25 || 270 | 548 | 863 | 1120 | 1352 | 1680 | 1964
709 | 108 | 106 | 104 | 102 | 99 | 94
100l | 264 | 538 | 856 | 1093 | 1350 | 1674 | 1965
146 | 145 | 143 | 141 | 138 | 135 | 130
105/ | 251 | 516 | 837 | 1071 | 1336 | 1659 | 1950
T84 | 183 | 181 | 179 | 177 | 173 | 168
150l | 240 | 495 | 817 | 1063 | 1330 | 1650 | 1928
221 | 220 | 219 | 217 | 215 | 212 | 205
475/ | 210 | 485 | 796 | 1052 | 1300 | 1636 | 1908
259 | 258 | 257 | 254 | 251 | 246 | 241
oo0| | 182 | 468 | 751 | 1018 | 1280 | 1611 | 1883
297 | 297 | 205 | 293 | 290 | 284 | 273
a0l | 130 | 416 | 712 | 978 | 1237 | 1563 | 1836
358 | 357 | 355 | 351 | 346 | 340 | 332

RHEIRTEE AesHEREM, 50T MBKMFTMKN, FRDXLERBEEEL.

All the data was tested at 50 C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

LWERRERENWARLA

Shandong Rnomac Hydraulic Machinery Co.,Ltd

7

M8



®

4

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} fﬁ'ﬁlﬁlﬁl&ﬂlm Machinerngo.,Ltd Y

8K

OFESEITEX  CEEIEX

8K-800 800ml/r 8K-1000 1000ml/r
EH AP  (MPa) EH AP (MPa)
|25 | 5 | 8 [ 10 | 13 | 16 | 18 25 | 5 | 7 [ 10 ] 14 | 16 | 18 |
00| | 282 | 571 | 845 | 1150 | 1456 | 1783 | 1994 00| | 320 | 648 | 978 | 1410 | 1980 | 2270 | 2479
23 | 22 | 22 | 21 50 | 18 | 16 19 | 19 | 18 | 17 | 16 | 15 | 13
go|| 288 | 582 | 856 | 1162 | 1464 | 1790 | 2001 o || 326 | 655 | 992 | 1422 | 2015 | 2280 | 2493
60 | 59 | 57 | 56 | 54 | 52 | 49 47 | 46 | 46 | 45 | “a4 | “a3 | 40

199 197 195 193 190 186 178

240 194 468 765 | 1063 | 1362 | 1680 | 1913 240 188 535 891 1294 | 1848 | 2061 | 2169
297 296 295 293 288 283 277 240 237 233 229 227 225 214

m 75 269 580 855 | 1165 | 1465 | 1786 | 1993 i 75 333 659 993 | 1434 | 2022 | 2286 | 2501
= 91 90 89 87 84 81 77 = 72 71 70 69 68 67 63
T |100 251 566 840 | 1140 | 1448 | 1767 | 1985 T (100 325 652 987 | 1425 | 2008 | 2275 | 2487
o 122 121 120 118 115 111 105 o 98 98 96 95 95 93 88
= =
= |125 242 535 824 | 1118 | 1427 | 1739 | 1976 = |425 313 634 985 | 1419 | 1998 | 2234 | 2449
L 153 152 150 147 143 139 133 o5 123 122 121 120 118 116 108
= [— =
= 150 236 526 808 | 1102 | 1401 | 1714 | 1959 = 150 288 612 971 1378 | 1976 | 2218 | 2422
185 183 181 178 174 169 163 149 148 148 146 144 142 135
175 215 504 794 | 1079 | 1378 | 1698 | 1936 175 274 590 956 | 1348 | 1935 | 2169 | 2366
216 214 212 209 206 203 196 174 173 172 172 168 166 155
200 208 494 786 | 1060 | 1357 | 1686 | 1922 200 240 566 922 | 1310 | 1901 | 2115 | 2223
247 245 243 240 237 232 225

aoo| | 118 | 388 | 713 | 1020 | 1318 | 1637 | 1836 s00| | 176 | 523 | 877 | 1277 | 1835 | 2044 | 2152
371 | 370 | 369 | 367 | 365 | 360 | 355 201 | 290 | 288 | 286 | 280 | 278 | 266
8K-1250 1250ml/r 8K-1600 1600ml/r
EAH AP  (WPa) EAH AP (WPa)
|25 | 5 | 7 10 14 16 18 | 25 | 5 | 7 | 10 14 16 18
oo | | 398 | 796 | 1115 | 1504 | 2231 | 2548 | 2858 00| | 528 | 1074 | 1503 | 2147 | 3005 | 3436 | 3865
14 | 13 | 12 | 11 10 8 8 11 11 10 9 8 8 7
g0 || 414 | 801 | 1123 | 1606 | 2242 | 2551 | 2867 5o || 538 | 1083 | 1515 | 2166 | 3032 | 3465 | 3898
38 | 37 | 36 | 34 | 32 | 30 | 25 30 | 30 | 29 | 28 | 27 | 26 | 24
= =
A1 || 420 | 809 | 1131 | 1614 | 2248 | 2560 | 2874 A ||| 544 | 1098 | 1537 | 2196 | 3075 | 3510 | 3952
= 57 | 56 | 55 | 53 | 52 | 50 | 43 £ 45 | 44 | 43 | 42 | a0 | 38 | 34
T |00l | 416 | 803 | 1120 | 1608 | 2246 | 2549 | 2864 T ool | 551 | 1108 | 1552 | 2215 | 3101 | 3547 | 3988
E 77 | 76 | 75 | 74 | 73 | 71 66 2 62 | 64 | 63 | 60 | 57 | 55 | 50
2 l1ps| | 404 | 789 | 1101 | 1508 | 2224 | 2523 | 2830 2 |1os| | 545 | 1004 | 1528 | 2182 | 3055 | 3493 | 3930
o 98 | 97 | 9 | 94 | 92 | 89 | 79 9 76 | 74 | 73 | 72 |70 | 68 | 64
150l | 378 | 748 | 1045 | 1490 | 2004 | 2389 | 2688 15| | 493 | 98 | 1382 | 1974 | 2761 | 3250 | 3654
118 | 117 | 114 | 111 | 109 | 105 | 99 0 | 88 | 87 | 84 | si 78 | 73
475! | 323 | 646 | 905 | 1293 | 1811 | 2070 | 2329 475| | 445 | 891 | 1248 | 1784 | 2496 | 2850 | 8207
136 | 134 | 133 | 130 | 128 | 122 | 110 104 | 100 | 97 | 95 | 93 | 89 | 8f
ool | 298 | 597 | 836 | 1195 | 1671 | 1910 | 2148 oo0| | 414 | 828 | 1150 | 1656 | 2318 | 2649 | 2980
156 | 154 | 152 | 150 | 146 | 142 | 128 120 | 118 | 116 | 113 | 110 | 106 | 99
ool | 272 | 546 | 766 | 1093 | 1851 | 1750 | 1970 oao| | 394 | 789 | 1105 | 1579 | 2211 | 2527 | 2843
188 | 186 | 182 | 177 | 168 | 162 | 156 145 | 143 | 140 | 137 | 134 | 130 | 125
00| | 248 | 497 | 696 | 994 | 1391 | 1592 | 1791 so0| | 382 | 764 | 1070 | 1528 | 2140 | 2445 | 2751
233 | 230 | 226 | 218 | 211 | 198 | 173

181 178 175 172 167 164 158

RPEIRTEE AesHEREM, 50T MBAMF TN, FRDXLERBEE.

All the data was tested at 50 C with N68 anti-wear hydraulic oil. Actual data may vary slightly from unit to unit in production.

72 www.rnomac-h.com



mmmmLow Speed High Torque Orbital

8K ARFIERR T

1E¢125

Hydraulic Motor {REXHAIEIRLIRE DIk

145

P

— —

2162

4715

an
S

FRAETE B :

TH] (5146 Hh 48, ASH O]

36, BiH O [E M AT,
= pry L5k s

HE (ce/r)|H (mm) |L (mm) |M (mm)
310 | 25 | 229| 214
400 | 31.5| 236 | 221
500 | 41 | 245] 230
630 | 51 | 255 240
800 | 65 | 269 | 254
1000| 81 | 285| 270
1250| 97 | 301 | 286
1600/129.5| 334 | 319

4000
3000

2000

1000

JHOA %
Port A @
% SNt —
;OB
Port B
] 126
x 22
L
— __.
Port B @ 5
N )
MOA /@
Port A —
LI 11.5
St R O/ i 8.2
7
20 8.3
e £ 2 6 KG 0 £ 888 1
4000
3000
] 2000 ]
1000
-50-25 0 25 50 75 100125150 -50-25 0 25 50 75 100125150
FREEH [ FRETR T —

8



mmm\% i [ E AL

Shandong Rnomac Hydraulic

Machinery Co.,Ltd

8K

8K BEDIERIIEZRT

"

d

&

StHOM14X1.5

I
N
4

€

$100.0.034

4-R6.5 @
y\ D /|

0
90X90 L 9.0.1

130X130 L1
HE ospacoment| 310 400 500 630 800 | 1000 1250 | 1600
L (mm) 25 31.5 41 51 65 81 97 | 129.5
L1 (mm) 245 | 2495 | 259 269 283 299 315 | 347.5

74 www.rnomac-h.com




mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

8K AR 4 R~

G40 E 5
12

5 45(70,70)

0
-0.3

43
D400 035

M12

64(81,88)

67(85,91)

433,
g40-8.025

M12

@450 4

HRFF G

EER2. 5EETE N /A30°

M12

43
64

67

/% =

=7

R FF B

12/24% 801 7% 71 £30°

238.12,

M12

40.5(78)

60(97)

63(100)

AL
8D-42X36X7

@425

03633

M8

43

65.5

69

AL
8D-42X36X7

-0.013
g42—0.049

23631

M12

40(38)

65.5(67)

69(70)

AL
8D-42X36X7

@4250:8

23631

M12

50(60)

91.5(133.5)

95(137)

P50 E 5
Fhz14

5359,

®50-8‘025

M12

BRI
6D-40X35X10
78
S g /7"_'_‘
M12 65
75
78
pip iR
6D-40X35X10
L&
M8 46(43,50)
56(50,57)
63(67,79)
66(70,82)
@32E 4
F4£10
5 36(45)
| |
4%
/1
M12 46(60)
49(63)
TRk,
HEH2 HE6E 1 /30°
4 —
4
M12 40
70

M8



®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁl1ﬂ}£$nm Machinerngo.,Ltd Y

8K

8K ZFId M ERER T

50 4-M12
4-M12 2-G1" 15
w14 A 18 4
[\ ﬁwb/ /Kj ] \\
% 2
X (P E e @
= 30° 2 o N %
< ¥ jo “ A
38
93
2-935 6;“;'150
R IR2.
4-M12 D AT
iA15 A & b
TR B g g
}% e g oo 2
% Ve KCD\ 10
AV
b= Q§/ E f\kjf\
o 2 \\J \Jj
38 50
2-216 /
5/"»‘3 n
& 2-M33X2 50 2-G1
[
[
2
2 © ©
©
g ‘2-(;3/4"
50 A° | oM24x1 5
| ‘ 2-M27X2
.
A
(]
M~
(o]
N \¥

76 www.rnomac-h.com




mmmmLow Speed High Torque Orbital
Hydraulic Motor {RiEARHFEIRLLEE DA

8K R OIARFIELN T

$180.0.063
$146£0.3
(o)) <
(@] (e]
mn mn \n—n
0|
® | |
L/ \
o
|
3.6
—
'
—— pii] o]
N Po
AEA 81940072
$224+0.3 4-918
\ )
]
\E\\ £
0|
\\% 3
198max
40 _ 7 322592
32 ‘ 123
—— | |
o
[e] | | X 0|
g o S 8
=
HEE1:10
70 6
105

914891

[
HHAGI4
9/16-18UNF|
%

85

OiktREREE:
T Xt e b, ASI O, DRI RS
Standard Direction of The Motor Rotation:
CW----When A Port pressurized, Viewed From the

Shaft End.
HEE oipooenen| 310 400 500 630 800 | 1000 | 1250 | 1600
L (mm) 25 315 41 51 65 81 97 129.5
L1(mm) | 1485 [ 155 | 164.5 | 174.5 | 188.5 | 204.5 | 220.5 [ 353
+
100 14.298+0.01
73 6.
— -
—— 1 =
[ =
NG
;_q[ &3
HE1:8 a

M8



®
LLI M a7 t Shandong Rnomac Hydraulic
m‘“““% Eﬁ'ﬁlﬁlﬁ&*}l*ﬁk Machinerngo.,Ltd yaradt

78 www.rnomac-h.com




rmmmmmmmlLow Speed High Torque Orbital
Hydraulic Motor R KX HFEIRLE K E DA

WxmERENARARLF 79

‘Shandong Rnomac Hydraulic Machinery Co.,Ltd




®

LI Sp S . Shandong Rnomac Hydraulic
RNOMAC} Eﬁ'ﬁlﬁlﬁl&*ﬂﬁ Machinerngo.,Ltd Y

8K

2452 -8K A5 D ik

=
N
w

B 12—S8KRIIGIA
Postion 8K series motors
ffE 3—HECCR
Postion  displacement

1—=310
2—400
3——>500
4——630
5——800
6——1000
7—1250
8——1600

g 4—F=H1EN
Postion  Flange and pilot
A—AFLAREZ, 1EO ¢ 127 x 12.6mm

4 bolt flange , pilot ¢ 127 x 12.6m
B—47LAEE=, IEH ¢ 125x 12.6mm

4 bolt flange , pilot ¢ 125x 12.6m
C—A4fLAREZ, 1EO0$80x 11.5mm

4 bolt flange , pilot $ 80 x 11.5mm
D—4fLAFiEZ, 1O $130x 12.6mm

4 bolt flange , pilot ¢ 127 x 12.6mm
E—A4fLAREZ, 150 ¢ 160 x 8mm

4 bolt flange , pilot ¢ 160 x 8mmm
LB 5
Postion  shaft
0—— ¢ 32E 45, F4#E10x8x36

¢ 32 shaft, flat key 10 x 8 x 36
1— ¢ 32E 5, FH#E10x8x45

¢ 32 shaft, flat key 10x 8 x 45
2— ¢ 40EH, TH#E12x8x%x45

¢ 40 shaft, flat key 12 x 8 x 45
83— ¢ 40EH, FH#12x8x70

¢ 40 shaft, flat key 12 x 8 x 70
4—— ¢ 40EH, F4E12x8x50

¢ 40 shaft, flat key 12 x 8 x 50
5—— ¢ 40EH, FH12x8x63

¢ 40 shaft, flat key 12 x 8 x 63
6—— ¢ 50E 4, F#14x9x70

¢ 50 shaft, flat key 14 x 9 x 70
T—HER L EHHB-42x 36 x 7

Splined shaft 6-25x22 x 6

80 www.rnomac-h.com

8——EFTE#HH6-40x 35 10
Splined shaft 6-40x35x 10

9—— R FF £k £ 2% 12/24DP 174
Splined shaft 12/24DP 17 tooth

10— FF L FE M2 51 5] 1748
Splined shaft 2.5 17 tooth

——# FF LR TEE 52 wH 1618
Splined shaft 2 16 tooth

g 6——i#O

Postion oil port

A—=G1 B——2G1/2

C—G3/4 D—¢ 14

E—¢ 16 F— ¢ 20
G—¢35 H—M22x 1.5
[——M27 x 2 J——M33x 2
K—M18x1.5 L—M24x1.5
E 7 #t@EA
Postion  drain port
0—x
1—M14x1.5
2——G1/4
3——7/16-20UNF
E 8 BZFH®
A—FH#L%E  Phosphating paint
B—I#EFR black
C—IE% blue
E—4% red
F—ABI&  no paint
fE 9 EME
Postion rotation direction
A—tniE

standard
B—km

opposite




mmmmLow Speed High Torque Orbital

Hydraulic Motor {REXHAIEIRLIRE DIk

303 IEHI RN B EIRR T

EFHHBRRL—MESEBXHDEG, FOEA. A, BENKNER, ERENTHNES, R£35
MRS ENER, SIBBA AT S EREE RN LA, HHIREEMENRYE, ERXHEROEBEL,
LHMEENEDTIE, EATELNBHDRETOERS. T3, T, K@%,

HEER:
175.5
59
40
19
iy
68.5 ] 10.45+0.05
‘ﬁ' 8X7X32 )
5 43
QM - ) 8
2 o N Jd 3 8
& s ) G S
N R/ =
k 2-7/16-20UNF
—~
FEMEESE:
BsFzEE (NMD 1150
BHEHN (MPa) 29
BHGHE (mD 11
BEaEE (r/min) 250
HlEhEs4F . :

1. MERENER: 4D, FHES. EHPRFFE;

2, RN, EER., REFRARB/N. EEBRE, FHEE, NEEMNATRE;

3. MHBNORIT: AELREER, AEEMOEAHNES;

4, BER: XRAZEZEXHE, MELREMAPET, EREHTHENSE;

5. NEMET: ERARABLEERME, IMRSHEER, BEREEALAE

6. MEHGK: EEFAFGERK. EERHRSMHEN, MNERYWETAR, 80CHRETHEREKART.



®

RNOMACIQN, Ii i 1a [ HL#

Shandong Rnomac Hydraulic
Machinery Co.,Ltd

P201 RIEFENFEHE

R F R BERMRE TR AR ERM—FUNRRER , TR TERASFEE Mk ER AR HH3
7, MMEREREMEEBHELEXERNM,

EER:
99
6.9 76.2 9
Fan) o
\\% - M|
_ Y H—
3 0
2 e | -
P 2-3/8-16UNC g
2-99.67%8 ‘/”\
- s T\
17
ERAEE:

Wil (A0E ) -

50.8
25.5

9.6

SR 27N
N 2
0|

vs)
27.8

3X7/16-20 O-Ring %

BRIEFRMEERERER, BOUEM (W) 1T, ABESRERT (K®) , SHWmE, EEH30=H

B

s ( ET ) -

SWmmMERFREN, REBREMREXBZEINEBNGE, BENEE, BEERIFTHBLT (EF) J

H, BDRISCELENTEINGE,

82 www.rnomac-h.com






